~~AEAY) B _palaal)

:Modifiers
In our previous overview of phrases, We mentioned that each phrase has a head and
one or more modifiers

AR B pualaall B WAL S AN eIl (e Giaatiin B palaal) oda A
Ll el e Whaat Lasie WU S) el arall g
W (e ST g aalg Jara g aalg Mol )" o o gt B e JS Of U S

:Modifiers can be divided into two groups
1. Pre-modifiers are modifiers that come before the head
2. Post- modifiers are modifiers that come after the head

Ol ) (5 a3 () awdil Y 2l
Wil @ Al AN A g > 4S8N e aall- Pre-modifiers
o oal N day S AN A g > 4Gl e mali2- Post- modifiers

.. ( Take a look at the following noun phrases ( NPs

Gl AN Fay 3 gel) caley A Jgand) G slaa o gl a Y (Y A Ll 21 A
. Liads)

A (NP ) dsanadl) i jlad) o 5 ki lia

:Jo¥ Ul A
a good friend

friend.sa (i -
48 b friend audld L8 Jaee sla 41 ) Pre-modifiers s\» sa good s Jixall -
friend .4 | st good s a 13-
"addl gy Alal dra " e " friend-oel ) Ul o) ¢ LLTSRE ba s 4 g friend oe Ll
"..:agood-

;Lf'l."d\ Jeial) uﬁ
my school friends

friendssa ol -
A8 friend amdl L8 Jawa sla 431 | Pre-modifiers s s my school & Jall s
) friends..4sls 1 sl school s my 13-
Ay & Eld school 5 my Gailiaal) Ukl Ladie (&1 g cplaal i ) Aad 5l s 38 friends Aals
) i) A paal) e aghl Laadl g U Bl agsh )
school .. my ¢Elal cpilanal) oda JNA (e Bl ra " friends” oul U Llea 131

Gl Sl uﬁ
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the headmaster of the school

et Jira g b Jara Ugal Ua.
headmaster ..4al<! Jaa <sla of the school o lsdi- ,
Wlida) Ladic the 311 O s Lia 48 ma s} Jaa o 3ol headmaster sl U Jaa g2 the 13-
.. 4 g 42 headmaster aw¥) o
31 J8 Gadl) ¢me headmaster Y sl Cidas headmaster (wiY clra oy 25313 A= The
A G 1 s a9 palieall g Eiaaiall ¢pa MS 4bjay s g (ma headmaster J-headmasters)
Bl (4 e 3 guheadmaster
. g2l s (headmaster) U Jaa Liai of the school ) Jerall-
JAdma dugial piae g the headmaster ¢ JiSi JSdy Uaaa 131

el Jha A
the headmaster’s desk

/ desk .58 oal -
WOl odaa lela g headmaster’s  the L (laaall -
Al Adlaiay) 385 ¢l Ugh: the headmaster’s Jsi Latis o1 gl ol ) jady 8 desk il
.4 gUal) UJD 3 gad
((the wasald « headmaster -1 &l Ll & 5 0338k g Alaa Al gla (i LA idas cad T3
) .. s23alt 4 ssheadmaster’s desk- ’
(desk)__emm Aadldial) paas uﬁ& Las b JEal) 138 é Jazal) 13-

several students

students .58 4sa) o lall 03a A Ll JI-
Ji ¢ Al ¢pa JIAN Y g ¢ duthall S (il 3 gualall ¢ studentsuiad e Uselu several Jua) -
e |
O £l )R o) AGaS Ulae ] JUiall 138 (8 Janall 138 13-
) L
we all

el dllaial) (5 e Cle gana B e a2 o Lal (el -
: we allise-
Lo gh- We <
w2 Jira Ud sla g Jaxal) ga-all <

woraially (glaial) ¢ et ds gana dgani 138 o

raabad) JEa) Q,A
everyone in our class

.ol sa- everyone <
w3 i Cela 50 e (A in our class <
o el (i) ¢ e de gana Ll dpand 138 -
- When the head is a noun, modifiers usually precede it
- Phrase like “of the school” follow it
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- When the head is a pronoun, modifiers normally follow it

head .- J& AU i 4 Bale” iy aaal) ")l (sl A "0 980 Lanic®

Ay e A Lil: (of the school - in our class) Jia ¢) < jle (Ciaad) ¢ <5 Lasie o<1 ¥
"head" . 5 Phrases - o2 (3 "clia™ culs 131 "l e " o o (oul ) 52 A acdl

head .- axy 55 (o 4a ke cianal) ") jaaa" (Lal Y "oy sSs Lasis gt
rABld) AliaY) 8 U S3 LS
everyone in our Jiall saly ¢S sa 9 someone in our school (A% Jla J& g LAl ) gisal) Uia
/ Qe LS 5 adaad) Al JS A o<t gclass
o Aoan e a8 130 Mhead” sl UA padal) g jaal) amy A Lgd" Y anal) ") Bad we all
:Pre-modifiers in the previous examples include the following main classes of
words
1. Adjectives
e.g.>>good

2. Nouns which modify other nouns
e.g.>> school

3. Determiners
e.g.>> a, the, my

1AL} CLalSl Ay ) R Jadi Albad) ALLRY) A ALEl N amali*
JS e 230 Ll Al ) gliadi 4y yadal) Cile panall 5 Apanal) @ jladl galaal) Jgaad) L 153 131 1)
i) J gaad) (8 TaST LAl €3 Al ALY e arall L guad i jadl)

):ciliall ) A gY) 4dii.
LAabdl) el (e il o gooddfu Melaw) Jad cGlda"

):sLac) ) Al 412
LALEl E¥ ) e LA o A pled Ja plaw"
my school friendsdlea 4 school 4als: Jia-
oaly $& 5 aul Lyl friends 9 ami- school
friends o« Y J school aw) Ligh-

):Caldaal) ) 4B 4ddl|3-
BB 2y Jualilly clataal) (S8l « g, the, my (i
:Exercise
:In the following phrases, decide which of the underlined words is
a. the head
b. a post- modifiers
c. a pre-modifiers

1. a big store
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a. the head

~H A sa- store
.83 (A-a
LAda - big
big ..sa et 5 Oslinas (G store oul M-
a. the head s& _Lady) 1.

2. the store manager
c. a pre-modifiers

manager ..s& (i Y-
manager of the store ..cs &aaii WY manager $2.5 (el (A agia sdal g cilalS 3 Ua Ll
manager .4 -1& J¥a 2 s manager 4<ls Jx- store
.ouly Ly 5 al manager s al- store
c. a pre-modifiers s JLEaY) 13 ¢ aud) 38 b LAY Jaral) 9 AT and Jio auil-

3. the leader of the group
b. a post- modifiers

ol ) day el Ll U 33adS g (of the group) 4 Ja ghiall
LAY e daasti Ua UWSY ¢ (il sa- the leader
b g Jara g2 13 ¢( LY the leader 4alS 3 i ) o3 L g the leader J- of the group
(the leader) ..cul 1) 3
225 Uigh the leader of the group Jsi Lexis (<! o 11903l 28 Lia 23 ¥ the leader J sii Ladiad
) )i 2il8) 43 jaa ddlatial (pa
4s gaaa Aild (the leader of the group - 451 g8 5 ra s oAl 8B yaat o Uselu Janall Ua 13
). Ad2a
b. a post- modifiers s LAY ¢ gax Jara s2- of the group

4. the group leader
c. a pre-modifiers

oY sa- leader
et Jia g8 13 (Gl ) 0 pla Laadl 5 Jural) sa- the
Lzl Jaa sa- group
c. a pre-modifiers s& JLIaYI-

5. someone in my office
a. the head

119 Ga oo alsh cad JU 128 b
) .28 2 L 2ai someone (s alsii
w3 Ja A g (in my office ) ssoaas S ke &5 B e 529 ol N 2- Someone
N ey bl plara ‘;A Gt plandy) 1) JilBa g dgany Y aray &sﬁi laall sale Ad) U 83 WS -

Ca

a. the headsa _Lady) 1.
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Determiners

:Determiners are word which specify the range of reference of a noun by
making it

- (definite (the book
- (indefinite (a book
- (or by indicating quantity (many books

):laasal) Determiners () (o) yaally 3 gaia G¥)

¢ Qldaaall A L
rddaa gioh (e At ga sall sda ddat GlalS (e ol A Glddaal)

LA an) Jaag 813 CiTaat-
(UL Jo QUS (g7 puad cadaa Cifa JUall 138 Jaas Ll (LSl J sk Laxie Uigh ¢: the book Jie
LSl 138 3 g 13 o ) galay g 4 galey Gadatial) g adiall o)

L e ad) Jaa ) Jogaa ) dilae £2-
% (He bought a book) 41l aleal) (B Ligh (S g () judy 88 (LUiS) Al 13 <: @ book Jia
LS ) ) LUS( @ book- AalS il

e e gl A ) e ac) Jrag 8 B o) A ) 1 a3
: many books Ji
many .52 Ua Jaaall-

books ..s& La au)-
WSl a ddma AaS (e 0 4Sh paad B Lselu 38 many Saaall
Sl (e B30 Sl g Sl (e Gl (sl
Determiners can be either identifiers or quantifiers

1. identifiers
tell us either definitely or indefinitely which noun the speaker means

:They include
:a. Articles
(al an (indefinite articles
(the (definite articles

:b. Demonstratives
this, that, these, those

:c. Possessive Forms of Personal pronouns
my, your, his, her, its, our, their
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2. Quantifiers
tell us either definitely or indefinitely the quantity of the noun

:They include

:a. Numerals
(one, Two, three... (cardinal numerals
(first, second, third... (ordinal numerals

b. Words
like: much, many, each, every, a few, little, all, several, plenty...etc

N o b ) canaal) i Y T30 ¢ G AT Cmandd ) cfiiaall aldi ¢ Lyl LiiSat
o OFesa
) i) @ gaf) cldaal) ox oY) As ganall]-
Al 333;2 P 4uilil) As gaaali2-

LAl (S (Cldadl)) e cad Lyl cilid ) 205 1 gY) 4 ganall®
): i) <l gai) b aallq-
)daa e ) Adlgd Y L ) gl ) Cidad -0 ((835h Gaaatall oaualy s Al (S 13) La U il
Liaa i g) Siaa g JA oS3 A and) £ sl uaatiall My 3le ADIA (e i ria Ua 130

‘Jadd Qléj&.’d\
&) 5a¥- Articles |
A e Gl Lgdas g (Anaad) A3l (A (o o30S Lar) (g iy jai Uil ol Lab 81 1) 3% @] an:
Y o Al IS G ja 8101 agdl J585 7)) Le (gl ATBTRY 9 3 8 400 Cua Al laday Lagd)
5 JS Ay 5 ASUBh Jr (Al I8 Labtay a8 gl) aud) (9800
iy i 31al*the :
) ..claaaall(Determiners — <) i % Articles ale JSds oS!

10 L&) slawl- Demonstratives <
Al) Gaanial) jady Le agh b Laslud 4ddl) ola
Ll e ) o LAY 5 Ade diaaty 3 a) adga aad B Gaatial) aolud 4ddl) oda 1)
LA Ca L Gua e an) aaal e Ua Liaela ¢ This screen dis
Lgdrd sl gl oAl elad) ) o LAWY slawl s o)) Léay) ¢Saal) (han
WUl g gl als LA 138 S ¢ s s i) Ciuag A o LAY plewd aladind W ¢Sas

rdmaddd) jiladall sl daua JISi - Possessive Forms of Personal pronouns =

LAlal silaa 5 jiladall 038 (o AT ) dalay ol

> mine, yours, hers, his, its, ours, theirs4slall jila diua-
> my, your, his, her, its, our, theirixaidll 48l jilas diya.
e i) 13 Ll dua) e (modifiers Wi cubud o Ciiiall Anaddl) jiladll 4Sla)) diva
Allaiay) (e 245 ULb ad)
: My book Jsii Laiad
) o S) (A A A g e QUS Jy QLS (o) Ua e Y

E dndla 4l oS dinaa cAll oy Gl aal jan A



..J2aMy - > modifier
..a=lbook - > noun

rdsasl) ga3A4D.
W oMEal) gl Agast) Sdaa e gl Shaa ) OIS ) La U e

:Jadd dgasl) 9338k
alas Y -
Lalol ge o le A ) Al bl alas ¢
: one. Two, three... Jia
WA () caa) g

WG S e b e (A At Al dlas Y
: first, second, third...J%
L s
Glals. o
: much, many, each, every, a few, little, all, several, plenty Jic
Exercise

:Identify the type of the underlined determiner in the following sentences
a. article

b. demonstrative

C. possessive

d. quantifier

1. This exercise is easy
b. demonstrative

b. demonstrative s «isal) 131 ¢ ciza exercise o < Ll This dals La

2. Their friend is here
C. possessive

. pgla (18 e (Bada ) Le g oo 888 Al o Litke ] 88 Ua g ¢ jsasa Their dals
C. possessive s il ¢ add pedal 4l diva 4 1)

3.The visitor came early
a. article

a. articless <lsall 131 ¢ ciy o3 3141 aThe
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4. Many people watch the show every week
d. quantifier

B gl S UL ¢ gaaldy () (alil) (e Adma 43aS (8 o b Lithe | Many 4als
LAasl) Bada 2 131 ¢ La A3as e 0 B Litkee | Many 4alS 1)
d. quantifierss < saié

5. These sentences are interesting
b. demonstrative

b. demonstrative s <isall 13 ¢ (ira anl N o L3I aThese

Person, Number and Gender

:Person

Nouns can be

.(personal (humans

.(or non-personal (animals and inanimate objects

Note: Personal nouns can only be
.(animate (because they only refer to humans

Non-personal nouns can be either
.(animate (when they refer to animals
.(inanimate (when they refer to inanimate objects

rowiad) £ 58 g ey 9 "UadAl" il fe b g Cilida £ gaga ) oY) S

" oAl 3,4l
relant) (688 Ol (Saall (1
Lllay g el gaa > Asadldl S

1k sala

el o B 3 gas LY ¢ dal) cuLilSll ¢y o%5 b Apnadll) o Lacd ¥
LS5 o L) Al d) s land*

Ll gaall ) s Ladie > doald) i<l

Glalaall A pdd Ladie > daa pal) ciliilstl

We can also use the term “person” in a different way
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:Traditionally, personal pronouns differentiate between
- (the person speaking (first person
- (the person spoken to (second person
- (and the people or things spoken about (third person

1st person pronouns: |, We
2nd person pronouns: you
3rd person pronouns: he, she, it, they

14dlida 48y sk (Person) gelluas aladiu Lyl Uise
)w\ slaall (gé @ba.d‘ A ¢ gaddivg Cpu gadl) Bals

(O GO dpadldl) yilaal)

) WJ8Y) Gkl Sl g g Gaatiall paddll
) il iRl Sl A g A) COATAY (ad il
) L) Gl e A g (agie GAATAN) Lgde Gdaal) sludY) g (il

-, Wedads J5¥1 cahll jiles®
D YOU Jadi (AUl cijhll jila*
: he, she, it, they Jeda GG G k) jileca®
:Number

.Singular (number) or plural (number) affects the form of almost all count
nouns, pronouns and demonstratives

:Here are some examples
:Count Nouns

(student (singular
(students (plural

:Mass Nouns are considered to be singular
(e.g.>> water, rice (singular

:Pronouns
(I, you, he, she, it (singular
(We, you, they (plural

:Demonstratives

(this, that (singular
(these, those (plural
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):alae¥) sa 4] JEiiia M) ALY £ gia gall

1 eSa a8 alac )

wise d3e.

)"‘,as)a 449) o s

)0 L&) glaml= yiladall-o garall plandl) )} alieal JS&N o i Lgld pan gl 3 jha CuilS ) g AacY) 28
ot (0 L&YY plai- yiladall-od ginall placdy) JUI JSAI) calasy) o falaie) 13)

Adl L) JISEY) sl o AliaY) Glamy ALY

‘e 03 gaxal) slac¥)]-
.aastudents > « Lisstudent >

.&amen > « 3 dman >
JISE AT el Lgde i oo ganall slac¥) 130 alae S e sk plandl) o Badl Ui

s singular kg ¢ e c)ﬂﬁﬁ\)a.{gm ) elaty) Lal

.48 water, rice > Jia

DY g ke Ll Loy cpmy AL s gaa L) pland) 130 ¢ i Al Ll oagina i) plan¥) of Jaadl Ui
PA R

e ilanali2-

a,i4l, you, he, she, it >

&aWe, you, they >

Wl ) s le g a8al) ) e La G el aodaliod Gl aSgall ¢

Jgled R el Lale i jilaall 1) ealae 3 e i jiledal) o Badl Uia

s Jia QDJWW slawil3-

2 sthis, that >

tathese, those >

LS add dae ¥ Lgale 558 0 LAY pland 130 calas S agh i o ;L) slawd of Liay Jaadl Ui

Whether the subject is 1st person, 2nd person or 3rd person; and whether it is
singular or plural can affect the form taken by the verb

(e.g.>> He walks home everyday. (3rd person singular subject
(I walk home everyday. (1st person singular subject
(They walk home everyday. (3rd person singular subject
) Al Oadal 5 smd 4gde iy B Jal) U8

O o i 3B) 3 jda gl pen (La) (158 Ladis ) b iling) ) sk oA () 98, Ladis
adl)
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e
1- He walks home everyday

odadll J8i to Fgiia g (Jolbosja-dillh G aHe <
: walks..gmad « walk Jadl) o (S) ciadain 1)
) wida =Jold (e ol GEl Gl 138 i g Gl Gl e Jai Al Aadlall ga Jadl) L () )

2- | walk home everyday

)oudsh i iy | O Jadll J8 o i ol n (Joiea el il <
walk ..dadll e (S) ciuzi ¥ 1)
(S) .2 52 9 2 kal) Jolil) Cu Gjhll Aadle Alelil il ¥ 3 jial) Jeldl) g1 ikl B

3- They walk home everyday

walk Jaill o (s)ciai al el Gijh e cda They of oe a b (Jeli-gas-cilli i LThey <
) .dkiall 138 8 aea They ¥
walk ..Jadl o (§) i ¥ 13
(S) .1 & 5 2hall Jolal) Euil) G jhal) Aadle Alelil Ciuiai ¥ aaad) Jeldl) i) ca k) b

S O S AL Lar) 2 il padid) 5 sl Of ques S 13 5 Jadl iy ol (3.9 (2 Cllially bt
wadl
Wl e e VI3 ¢ J gl b g Adgl ) 2 e eld (4] aa (2)H) Jha) A
WOl e i WM ¢ pas adg 4SS g) 3 jRanulll ik (4] paaa (3)) JU B
:Gender

:The 3rd person singular form of personal pronouns can be affected by gender
as follows

1. The masculine pronouns “he” refers to males

2. The feminine pronouns “she” refers to females
3. The neuter pronouns “it” refers to inanimate objects, or to a person or

animal not yet regarded as male or female
("?e.9.>> (“Who is it
)iomial) £ 5) sa Gl £ guda gall

Al £ IS (uiad) £ g lgale %) 2B dpadldl) yiladall 3 jdall Y Gl (S

JSM\ ssaall]-
25 e 3t He < Jie

Euigall praalld-
LEY) e gt She < Jia
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Alaall jeanall3-
s 2t It < Jie

el dlaa-
" il S Cpedal) e g 4 e Al B It 0Y) L AT sl S3 G0 Al Y s ol gl
ouriall £ ¢ Ci Al Ca

ifie cfpaa A ylaall jradal) addicd Cuiga gl jS3a o)) gaad) gl (i) (LS 13) G et Y s 3
: “? Who is it” ..J 588 e Gl Le s 3k Laia
PErson Jl yagady 138 < 1 g jS3 S 130 La alad ¥ 0S8 g ol (3l aal 0 gy AT G et i Uia

5 aigal) yilad adiiad Of ¢Saall (a5 cAra dlaal) padal) addied Salzd animal Q) pa sady L
. Aeaaia cla B (S g daa SAal)
The distinction between male and female may affect our choice of lexical items
(words or phrases) that could fill a “slot” in the structure of a clause

Man, headmaster, woman, actress

e.g.>> 1. He is a good
Man and headmaster can fill the slot in example 1

e.g.>> 2. She is a good
Woman and actress can fill the slot in example 2

o) Cilals” (il jdal) pualic™ dranaal) 35ill U LR o gy B AN g jSM o (A0
Ladaad) oSty BTG L ) Gl e
(words or phrases) ..cs o ke &* lexical items
O g AN obiadl of AalSl) (i g Sad o aag (BN 13 ARG Ll S 13 alaal) sy b
" LSE o ety dde ) 8 BAN QU3 L ”

ANl el Lt
Jauman <
ssheadmaster <
sl salwoman <
Aliaagctress <

;¥ Jhal)
He is a good

AR Ay ) plead) (e § N 3D QD Slad o 25 1Y) (f B Bd L a g
sz (He) s LS e Glaga Ghand) Ol Y E1AN (e . headmaster s Man asiius
WObalia e [XY] ‘JJSSS\ U'b KL N

slacdl) o gay Sia (He) s &Y o 3525 WY actress s woman addied ¢ff aadaiaad ¥ o8
..0_S1al)
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o e LN
She is a good

SARLL) An Y plead) (e § M BN QD Sl o w5 1Y f 8 3 La aa g
s (She) O 5 &Y e Olage Shaad) G120 Y E1AY (e b actress s woman asidiud 3
LObebia Glanl) 131 ¢ ELY) o agay
s 4disall sla) o 3928 &iisa (She) oY §1,40 2 headmaster s Man aw) aladic oo ¥
) riif= S3) uiadl (bl Ao Aial) pland) Adlaia) (ha SIS A
:Note 1
The suffix “-ess” is found in a number of words referring to women, but there
are other words referring to women that do not have this suffix
e.g.>> aunt, niece, nun

:Note 2
Most nouns in English can refer to both male and female
e.g.>> friend, neighbor, cousin, teacher, nurse

rlds gatal) (g Uia Ligal*
© A 9Y) add galall

: actress , empress Jia cAalll AT ) cilal i) Ja 5 ( -eSS) 423
bl 1) a0 lalSl) oy a3 B aa g5 4Bad) ol
U Auaadia LY Siall Ll i e La oy sl jual Lalina eMpress << 4als
B daada LY Shal Ll ghs adiy La 4lias WUna actress << 4als

s Jla ABad]) o la Alai Y g plaadll A judd cilalS dlin oSl g
AW deequnt <
LA @y gl alniece <
LARpnun <

+A L)) A3 galal)-

g Al G Ay o) 431 (uSla 138 g cae GLYY 5 eSA o 3 gal A e 4dll) B plan) alina
e cauadld (uiad) £ 5 daad 0 Ugle
LAbsa ¢ guafriend <
ook « Janeighbor <
) A —das) Ll (S — ae) A ¢ (A — das) il ((JS - a2) Giicousin <
Aalea ¢ alaateacher <
WA aa ¢ g panUrse <
L) g eSAN e aga Ay Sula i) Aall) B pleud) oda S

Lg‘gul..agﬂ\g.hﬁ{)‘gj\d@gﬂ‘d‘gdeﬂmémbﬁmej‘gdy‘@ﬂ\cbg\
.. Lads)

= |id e JgY) Gl 8 ad) g
= Wegeal) e Jo¥) ikl B a8l
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Adall = you il e SGN Gkl b a8 ¥
el =you &M\Wg.um\ d)ﬂ\@é\j
= heaiell Sl jpada Gl Gilal 3 ol g
= shedal) duigall jpada U Gl A adl
= il wlaall jsacs I i all b &l
= theyraal) slaall-Euigall- jSiall) jpada GGl Cajlal) A 281
:Exercise

:Choose the appropriate pronoun

1. 1st person plural pronoun
a. he
b. we
c. they
d. you

O Gkl b by gan ssaa &y
Lodfiuid aaa gl he o (2a2) 58 ousd o
"Lkl T g Al Ads jall ) S35 1Y) (e agasea yOU 5 they swe
Ol i jh-zaayoU <
b 1) ¢ Gl G jha-aaathey <
b. wesa i gall 131 ¢ Iyl cih-zaawe <

2. 3rd person singular masculine pronoun
a. they
b. it
c.you
d. he

SO Al a8l g 3 da pada by

Lodafluied AN Gkl 8 Bl ualyoU <
M) g AUl Ada pall ) SRS TN CEN Gl L8 agasea he it sthey
 odnied 1) goan 4isly LA il b s paithey <
£ 5" g AN Ada gall ) SRS 1Y) ¢ e LaadIS Liagl g G i jlal) B ad) g LaadS he < it
RNEYEEN |
Lot 1) claa AiSlg 3 jia g BN Cilall B adl g et <
d. hess i sall 19 S sag ke g G iyl b gl mashe <

3. 2nd person singular pronoun

a.you
b. |

c.we
d. she
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wl) ikl A Bl 3 e e 3y
a2l 13 (J Y il A Al g silada we < sl
X W R K IPREA kA | d)hl\géé\g waashe <
a.youﬁgbe.“’\:ﬂsdﬂﬁ\g@lﬂ\dﬂ\@ébﬂyou<

What is a clause?

A complete sentence needs at least one finite, independent clause. A simple sentence is
composed of only one finite clause, so that the structure of a finite clause is identical with

that of a simple sentence.
o jlall 5l o 2l clause 4 S 54 e
..(finite, independent clause -4pldic) je aliiue godaao @ ) Je JBY Je zUsialdlS alea o

¢oaaly alaic] ye aliiie goddae o i o JBY) o (g gind Of Y alaiSa 43 sV aalll Jd alaa)) moail
LM aplaie] pe aliies goddae s i e ST e g gias 8"

¢(22ad) 52,8 5 el sedah 1) It shows time, person and number s "33%" finite AdS as*
LALE (538 2y Juadilly ellb ) (5 )kt

< ¢!) That it can occur own its own as a sentence s "gic) " independent 4xlS Jiac*
o AeaS La jiey Gaald () (S S

He is a student who likes to study hard /J%s-
Measl g yle 5l o )3 - one clause " >> He is a student
< B iey Gt o (S 48 ¢ Ml (g) apalaie) e - independent” (A S8l i
"oaal g0 e o3 - one clause " & >> who likes to study hard
¢ "aldic) - dependent” & gl il
.. aleall olgii) 4k wumi 55 (g 5 (Who likes to study hard) st of el Y a3
(e alea o Joaliie ales 05S5 G (Sa Y 4l (5)) aseiall 5 iaall AldiSa e aleall (Y-
o (odine dlen — 48 jo alen — adas alen ) 18 (e JRA g gl LGEU Ll (5,83 LS "adased) aleal)” *
.. kadd a5 finite clause e s it adapl) aleaall-
finite I 58 Lo Gayaias g adagusd) aleadl 1) lash i ¢ finjte J) ine e Coped of a8 Ladinds
finite clause = one simple sentence*
Here are some examples of one-clause sentences:

1. | have just telephoned Mohammed.

2. He was my best friend.
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3. This is his photograph.
4. At nine o’clock, we all gathered in the classroom.

5. He always does his work perfectly.

| have just telephoned Mohammed /1Jt«-
"subject — Jel@l" >> |
" verbal group - 4izd 4c sexa " >> telephoned s have
(O Camd g just AalS
" helping verb - xxlus J2d " >> hgve
" main verb - bl J28 " >> telephoned
(e (oA il adly 5 0aa) 50 jle Ugd - it is one clause and it is a sentence) -
He was my best friend/2J%-

"subject — JeWl" >> He
"verb — dadll" >> was

coalen o gl iy g eaaly o le o 13-

This is his photograph /3J-
"subject — lxiw" >> This
"verb — J=dll" >> js
oalea oa ) Ly geaal g e oo T3l
At nine o’clock, we all gathered in the classroom /4JU«-
" subject — s " A5 " pronominal group — 4 4c sexe " 2 >> we all
"verb — J=dI" >> gathered
Al b Sl Gy g oaal 50 e (o8 13-
He always does his work perfectly /5JU«-

"subject — JeW" >> He
"verb — J=d" >> does

Loales a ) Gy geaald g e & T3 e Lal aal g b g asl 5 Jeld Lal
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Each of these one-clause sentences has a subject and a predicate. The predicate is what is
said about the subject.

(e gt Jaall oda (ga o a8 JS*
"ixise 5l Jel" subject-
"43l) 2iudl" predicate -
. Jeldll e daaty L sa predicate -
He always does his work perfectly :cweladl JUall & Jls
"subject — JeWli" >> He

5" He Jdeldl 1) aine (o) 4} i — predicate” s o222 Lo S >> always does his work perfectly-
M Jadll Qe predicate 3 o) " Laadl Jedll Jadis

At nine o’clock, we all gathered in the classroom gl i Jéall
" subject — Ixi " >> we all
" we all il ) vis (g) 43l) 2 — predicate” >> s Jiall e i L S
predicate ) o= 3> s (At nine o’clock) 13-
predicate 3 o ¢ 3» Ladl s (gathered in the classroom)
predicate ) o ¢ 3» Ladl s (gathered) J=dl

If either of those two parts, subject or predicate, were missing, the sentence would not be
complete.

However, in an imperative, the subject is usually unstated.
e.g. Go study.

When the subject is missing, we assume that it is “you”, the person or persons spoken to.
The previous sentence can be expanded as follows:

You go study.
.. AlaiSa muai o)) 4laalli 2 i (predicate s subject) owall asf S 13-
.. (predicate s subject)d 3sa 5 (3o Y 4lalS alaa Lia ) 131 13-
(unstated - z5mad x5 Old ) osSiBale Jelalld L) dapa 8 cliiul ollia (S5

alaall (expand — g s5) Loal LSy g aleall 3 1o s 50 4 sgia iy a3S) galgis ¥ 5 Jeldll SNY casfale
oAl Jeld) Jasd

) s e
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.. 4l dapa Linpa aleall 028 >> Go study
sV o paladll b jS3 >> 4 deal) gl il o5 S35
Statement -1
Question -2
Imperative Lay e3 5 >> Command -3
Exclamation -4

Jeall g1 53) (1e & 53 5 Command sl Imperative 13-
..(which normally we don't states the subject in - e Jelilly & Huai 3ale ) 5)

.(that it means you -l elisy 43) << (assume -Ual sdl) LiSa ¢Sl -
ol a3 geald) Of alaid 3 giie Jeldll IS 13) e
: SIS (expanded — Juadills alSiic aluzd) o LiSay Gabuall JUial) 8-
You go study < J s
..Set down s Stand up s Go study < Js&i Jasd ¢ lld J&i Y i salall A (K1 5 Jeldll ga Lia >> You
oY) A 8 Jeldll S Y e T
The subject of a clause is a noun phrase. The predicate is a verb phrase.
Every finite clause has the following basic structure:
NP (subject)+ VP (predicate)

The man bought a new car

LBl Lol a8l ) pualaall (8 )5 S35 LS gc™pan) alan 408" 4paul o Jle s clause ) 8 Txisall ) Jeldll
oo Qanafilly 4ansY) o )

. Aded o jle awss predicate 4 JS 131 ("aglad ales 4ui" 4gled o jle s predicate JI -
4l 4l o2l iy finite clause JSs -
NP (subject)+ VP (predicate)
lxiad) o Jeldll a5 NP-
a1 g Jeld) ) sied) s VP-

The man bought a new car: A4l Juall & LS

o Agenl o jle (5 NP s 4l udiy g Jeldll s8 >> The man-

.oagl=d o jlie (o) VP sa gl Lty " The man" deldl) ) v 58 >> bought a new car-
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s okeladind 41 yp*
.. JX "predicate — 43 Gl e Gaaadll 8 aadiey -
.."verbal group — 4dzdll Gle gaaall" e Saadll 8 aadiin 8 -

.. JSS "predicate — 4 viwall" (e Gaady sliandinl JUall a6

4:ladll » ,Lall The Verb Phrase (VP):
The verb phrase (VP) consists sometimes of a finite verb only.
e.g. We all waited.
More often, the VP consists of a group of words (verbal group) with a finite verb as its head.

For a clause to be finite, there must be a finite verb in it.

¢ Magladl) aleal) anialadll o 5lall e e slaall (axy a0

..(what the verb phrase consists of ? - fauladll o jlall aia 5 5S35 (A L)
.. k& 2l 5 finite verb e ¢ sisy >> VP-
Dl iy B VP -
verbal group - one finite verb W! -
We all waited : Ul JUall 8 Les-
"axna - finite" s L 5 daill s >> waited
.38 2 finite ine 9 Lo oS1 Jsin g
Mfinite verb — 3334 Jad" e (¢ ¢ia3 "verbal group - 4dadll 4c geaall” o
..J# e head ) LSh Levie ()5 SN caladll 4c ganall "the head — oul " sa 3240 Jadll Ua -
: verbal group J & 13 -
.. finite verb J) 4uii s head
.. (clause ) & 1) 4 finite verb 25> 5 (e &Y 33a4 clause ) s 13-
.. finite clause e O35S Of g 4ali alea <o ) 13-

.. finite verb L 058 o s finite clause <) 13-
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The verb can be either:
1. Simple
A simple verb consists of one word.
e.g. is, was, walked, sat, did
2. Complex
A complex verb consists of a verbal group.

e.g. have telephoned, were placed, were waiting, did not like, could see

dina ) Lo -1l 5SS Jail
Ll -1
.ol g 4aK e o lie 1 dasall Jaalle
is, was, walked, sat, did /Jis-

adaneall JledY) Lt LS o3 -

Sadl -2
. (h\jddw)isié\)qﬂlajmwoswl_p T damall Jedlle
have telephoned, were placed, were waiting, did not like, could see /Ji«-
A L el ad — a8 810 — delie Jad Ll agledl) Cile sanall ka8 Ligh-
have telephoned -
el J=8 >> have
bl J28 >> telephoned
.. W& Jadll (51 (full verb) s 5 AT asas (Main verb) b Jadll ans of LieUaiuly 5
were placed -
aclus J=d >> were
bl J28 >> placed
were waiting-
2o lue Jzd >> were

bl J=8 >>waiting
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did not like-
aclus J=8 >> did
bl Jad >> [ike
4alad 4 ganal S 0 2 8 >> did not like-
could see-
2elia Jad >> could
bl J=8 >> gee
sddak il A 023Xl Jx8YIFinite vs. Non-finite ((Verbs)):
Finite Verbs:

Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a finite verb.
He is here. They are here. (person and number)
He is here today. He was here yesterday. (tense)
03anAl) JladY) Cay gas
Lol gl g el W S gl el
1058 38 Sy a3l Bl G 002l JadW) e i3 5
Qafiisa - & Jbas - o=k -
1058 B Cun e 380 Aals (e
Glbch- dh- Jsfcahe
D OsS B Gua (g al) Aali (e
g - e
L) Jadl e Qe a4l Jeall b (435S0 Jed) “be” Jadll*
1058 3 (be) Jadll Of << dils Aaglaa ) giSall Jgay ¥
is, are, am, was, were
past participle << been Lzl s
sl Jadl) e S 435380 Jad 5l CaS aleall o2 b 5y

B isﬁ;ﬁgﬁ\dﬂl&iﬂil\‘iﬂuq‘)kﬁj{)éadcw| >> He is here-
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.. are 435Sl Jad 330 13 ¢ G Capla g8 5 aea Jeldll >> They are here-
. ofleall 8 Jelall aall 5o il U ye WY i (be) 43 58Sl dad of L Jas35 ) -
.. finite verb sed 232l 53l e Tolaie) Jadll s 13-
. is enal 435Sl J=d 5 jualall (e ) 4 4leal) s0>> He is here today-
.. Was zal 455l Jab 5 alall (e 8 4leall 238 >> He was here yesterday -
Ol U e i) e Allad) ola &
) 58 el s ade 5% S finite verb I -
Finite verbs can have three forms:
1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak
2. 3" person singular form of the verb
e.g. walks, talks, drinks, speaks

3. The simple past form of the verb

e.g. walked, talked, drank, spoke
) 550 3 L oaakll Juadyl-

oo Jadll (o) JSAN) ulay) JSA -1

o sn LS Jadll L (—ing 05 sl —ed 05 s1) bl 53 Jadll s 13-
walk, talk, drink, speak /Jis-
o nill Tl gl S8 e alial Sl o8 S -
L Jaall 5 ) G oyl daa -2
o (5) shs kel Al Caplall Adle 4l Cilima Jaill () sSus Lia-
walks zuai << walk /Jie
(B Saall) sl ey b Al G plall b a5 3 ie Jeld Ll ()5S Lavie Jadll e (5) acdlall 038 Capuai s
talks zuai << talk

drinks zu<si << drink
speaks guai << speak
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1058 8 Jadl) G o yai lagen aidally -

B e - e
—ed 4 Lizl >> walked << walk /Jie-
—ed A Lidal >> talked << talk

ekl ey Alla 8l Legds e Wails 5 —pd gl Uikl auiial) JadVl (he Laa o Sladl) )a-

drank >> drink
spoke >> speak

bl e Ala A LeglSh i andatic juall JLadY) e Lea Bladll lda -

Exercise:
What is the form of the finite verb in each sentence?
a. base form b. 3" person singular form c. past form
1. The manager talked to the employees.
c. past form s& Clsall 130 ¢ Jadll & (ed) asn ol (alall (30 B s 5 talked s J=dll-1
2. He drinks coffee every morning.

13 ca e s oyl a5 Jadl) G Jaa Dl Lyl 5 () 2_iall Callil) Coylall Aadle 35 5 1D 5 drinks st J=ill-2
b. 3" person singular form s i sl

3. Ahmed and Khaled usually study together.

‘(S) J)LJ\ Sl (i AJ)H\ :&A)&‘L\hﬁyﬁhag\ )(ed)m_\;ﬁ\j‘u\hm}studyﬁ Jaill-3
a. base form & <l sall 13)

4. | went to the mall yesterday.
c. past form s @l gl 13 ¢ go (i) J2dll (o alall dopa ga 5 "alalie je Jad " went sa Jxill-4
5. At eight o’clock every morning, my father goes to work.
.2l Gl e Hhall S5 s 5 goes sa Jadll-5
b. 3" person singular form s <l sall 13 ¢ Jadll 45 @5 Ll goes << go
sdak Lyl JlxdYINon-finite verbs:

Non-finite verbs do not show tense, person and number. The verb “come” in the following

sentences is an example of a non-finite verb.

e.g. | expect him to come soon. We expect them to come soon. (person and number)

He is coming now. He was coming at the same time yesterday. (tense)
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032k ) JladY) Addlia ) Jatiie-
Ll 5 el 5 pasill Lde 5 (s32aad) JadY) ) finite verbs ) of Liale 13-
..Non-finite verbs e 5 83 G Ll Sl

LS a8 oo gt 5l e i) 23l 5 a3l 5 (adll) BT Lgde Hedai W 3l JladY) o coddad il i) -
(A

3and ) Jadl) e Jlie 4l aBeY1 b “come” Jaill-

Saall gl el o GadEl B e gl a5 Y eddak sl Jlad) 13-

| expect him to come soon/J%s-
We expect them to come soon
e lall 35 i) cpaleall 3 Baadle
(1) Y Gkl bl ke Jeldll > 1Y) aleal) i
(We) S8l cajlall 8 adl g pas Jeldll >> auilil) aleal) -
Ll addll SR a0Y 5 Non-finite verb 43 siy s LS i Gaileall SIS i “come” Jadll -
He is coming now/JGe-
He was coming at the same time yesterday
LoeN B s 5 Y "coming” Jadll-

(g Jbadl) sl () (A 138 >> (He is coming now ) (sY) aleal) i
2l (4 ) (A 138>> (He was coming yesterday ) 4xtll aleall 4 -
.. Non-finite verb s "coming" Jadll 13-

(be) 45 Jub I kit o1
(is) )Y alaad) b
(was) 45t aleal) 3
..(is — was) "finite verb - 3a4 Jad" sa 435Sl Jad 13
Non-finite verbs can have three forms:

1. The infinitive

The infinitive has the same form as the base. It is often preceded by an infinitive marker

”

”tO
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In some cases (e.g. after modal auxiliary verbs) the infinitive is bare (without “to”).
For example: | am waiting for him to come. (Infinitive with “to”)
He can come tomorrow. (Bare Infinitive)
2. Present Participle (also called —ing participle)
e.g. walking, talking, drinking, speaking

3. Past Participle (also called —ed participle)

e.g. walked, talked, drunk, spoken
:DJ;A:S\ JJJJ\ dmy‘ @.\a ‘_;x: l:)L..Y @U-

() JSEN) dpulul) Gapea (i 4] aadll dapa
.. (s oradl) Jadl -The infinitive verb) Jd Ui a5 Hradll dasa dadle o (to) 4uls-

o) asy ypall — bare) 5 yiad) ("auxiliary" s Lisall Jlad¥l amy d_m) YA ey @_
__(to) 4K alaall @ oSS ?3 N (aa);.d\

(t0) Gs syad) e s le s bare infinitive J 13-
S OsSE A jaadl A 130
to &= infinitive-
LAl jaadl ) pall jaadll ) Bare Infinitive =% 5 >> to O infinitive-
| am waiting for him to come /J%s
.. to &= infinitive & >> to come
. Jaill ol (S8 58 13) ¢ (Base Form) 4salul 4xsa s >> come
.. (coming) sl << —ing Wl caai &l 5 ¢(came) el (bl ey 8 (U Al Alaall 028 i
.. 10 (s infinitive sa Ua Jadl to Leld 5 come 13-
He can come tomorrow /J%a
. "auxiliary verb " << 4 can La Ll
:sla(come) s can 2a Jadll-
"asulul 4324 - Base Form" -

(9334 — finite) Ll 2 13" Jaas daua — Infinitive"-o
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.. | come here every day < 4laall 038 3 (come) 4l 4l Ll g8 -
..(335% — finite) s> come >> (I come here every day) 4laal) 028 -
4 " jas dapa — Infinitive” sl come Al aleall 8 Lol
.. can << s& 5 "auxiliary verb " = (-

'Y "y 5l i e ydas - Bare Infinitive" (s s-

. (to) 4alSy (3l &l Jadll -

: Present Participle-2
.. (ing-participle) = Lay) ey 385 ¢ (—ing ) 4l lilias Jadll 5o 5-
walking, talking, drinking, speaking /Je-

..Present Participle = (=ing) 4d)) Ciliae Jed gl 13-

: Past Participle-3
.. (ed-participle) Lyl oy 88 5 il il yualaall (o oS Caslne 58 5-
okitia Jadll 138 IS 13 Alla b -ed 4l Ciliay bl (a3 (6 Jad JS 131
< LaglS iy ol 5 (-ed) Legd Lidiald (lalaiia (lad Laa >> walked, talked /JGie-
. LedSS pasd lalatia ye Mlad Lea >> drunk, spoken Wi
(simple form) Base Form >> drink 13-

finite > Past Form >> drank

non-finite > Past Participle Form of the verb drink >> drunk

(simple form) Base Form >> speak
finite > Past Form >> spoke
non-finite > Past Participle Form of the verb speak >> spoken
Lol g sl ) el i ol e ¥ >> drunk, spoken®
Exercise:
Decide whether the underlined verbs are:
b. non-finite a. finite

1. He was able to walk after physical therapy.
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0deldl i Lavie i Ja >> walk-1
walk Jxdl i o s da . He J)x They Ll 5k
They were able to walk :J s&s--
.. "finite verbs - Olsiae (Dad" L were s was oY ¢« were ciaunali was U i Ua lada-
"non-finite - s ;" s 13 ¢ sa WS iy walk dadll of s -

b. non-finite s <l sall 131 ¢ (azall 5 asall oy iy ol seb-

2. He is making a chair out of wood.
$¢ G 13l Jeldll Ll 5l >> making-
They are making a chair out of wood :J si-
. "finite verbs - olae (Dad" L are sis oY ¢ are sl js U jie Ll La-
b. non-finite s <lsal) 13 "non-finite - S3ae 2" 13 ¢ LS Lin making d=dll ol LS
3. He made a chair yesterday in his workshop.
98 Ciaas 13l Ui 4gia 3 o jilll a5 ) >> made-3
He makes a chair everyday in his workshop :J -
s Jadlld el G 13 ¢ g, finite s ol sall T30 e ) s Jadll a5 a8 Slad 4l Jaa M-
4. You should spend more time studying.
£ s 13le Jeldll Lyl ) >> spend-4
They should spend more time studying :J s&i-
He should spend more time studying
| should spend more time studying
..(should) & 5 "auxiliary model" 2= el 43Y daf % ¥ spend Jdadll of Jaa i
b. non-finite s <l sall 13 "non-finite - S3ae 12" s (should) 2 sla 3 spend J=dll 5-
5. They spend time together every Thursday morning.
$¢ i Ja € Gaaa 13l Jeldl W 8 >> spend-5
He spend time together every Thursday morning

Alall oaa 8 aall Gl Caplall JS Laadiiad Ll JasDls-

E dndla 4l oS dinaa cAll oy Gl aal jan A



a. finite s& <) sall 13 ¢ "finite verb - Sdaa Jad" b yiad Jadll Y 5

sdaa Lyl A oddadll o liall i o_illFinite vs. Non-finite ((Clauses)):
A finite clause is a clause which has a finite verb.
e.g. He is waiting for the headmaster to come.
The previous above example has a finite verbal group, “is waiting”.
oY Al Lae g o gualall ey 8 Tl ol U S5
S Jab e (g siad o o rediaall ol i o jlualle
He is waiting for the headmaster to come :JUall Jau e~

& 85l Ll 5 (is waiting) 2 s "finite verbal group — s33sa 4lad 4c saaa e Jlie s odel S5 La-
."finite clause - s33aa o 488 4l o "

¢ oaal g oddaa oy gl o jle 5 oaal g sddaa Adled dc gana Lia Lual 13-
.. (One finite verbal group & One finite clause )
.(is Waiting) (&5 o33 4ulad 4c sana o (5 5iad el o3daa dulad o i 5 o le & >> He is waiting 13-
OS2 s " finite verb" e stisy of cass finite clause of a3l
(finite verbal group i One finite verb )
A non-finite clause is a clause which does not have a finite verb.

In the previous example “for the headmaster to come” has a non-finite verb “to come”, but
does not have a finite verb.

At least one clause in an English sentence must be finite.

A@udﬁésg;h;&éd\a)ﬁ\gm :bJ;M‘):\ﬂ\b‘)ﬂ\}iaJL_\aj\-
..(non-finite clause) s Saa e Jad Lual 5 S e Lal (K5 Al 131 T3
for the headmaster to come /Gl JGall i -

- oddaa e o sl o )l el Lia 405 (to come) Jadll Luals ¢ (the headmaster) st s Jeldl Lyl -
.10 ae Dlas dapa e sl 4l (o) ((Infinitive with "to" ) &5 s¢d < " non-finite clause

ded e s 5im Y S0 5 (to come) st s S3aa e J=d e (s siag (for the headmaster to come) 13-
.." non-finite clause - s33xa & o4 ol o e o Gl 13 5 33aa
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a finite clause -a-ﬂm-te-ve;b-—w

1
a non-finite clause —_ . gVerb-
a non-[

Loddae JBY) e saal g i 065 () camg << 4 lal) aclll i
. finite-sadaa" oal sda s O Cany 5 JIY) e sanl g0 e (s giad o cany << ALalS alaa L) 130
Simple sentences consist of one finite clause.
e.g. Heisastudent.
.."One finite clause — s3a)s o33aa s 8" (1 (consist — <alliy) 4dasul) Jaall-
He is a student /Jie-
.Mfinite verb - Yse Jad" g8 >> s -
. Abasy alax 038 131 < "One finite clause — sl s odiaa o " Ll
.. 4hass; alaa W =3 One finite verb &= One finite clause 13-

Compound and complex sentences consist of two or more clauses with at least one finite
clause.

e.g. Heis waiting for the headmaster to come.
.."two or more clauses - S s (s 58" e (consist — <ally) sdiaad) 54 jall Jaall-

bl 038 (e s2al 5 0 5S3 ()f ang 08 e ST e (g siad 1D o 8 Gila (e saal s JBY) e
.finite verb — 23se J28" e (clause-c_adll) oda (5 5ia3 o)) (g "finite — sadsa"

He is waiting for the headmaster to come /JU«-
.."finite clause — s32as o 3" & >> He is waiting-
.."non-finite clause - s3s« e o 8" & >> for the headmaster to come-

Llisanw cundl 3¢l 5 > (is) 58 5 L finite verb &= finite clause le s sind LY AlaiSa aleal) 034 5-
.."finite clause"

Verbal Groups
aaladl) Cile ganall
Verbal Groups :
Verbal groups can be of five types:
Type 1 Modal +Infinitive: could see, will come

Type 2 Have +Past Participle: have telephoned, has begun
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Type 3 BE +Present Participle: are coming, were waiting
Type 4 BE +Past Participle: is grown, was broken

Type 5 DO +Infinitive: did not like, Did you know?

‘55 Leie Euaall W Baw ‘;ﬂ\ (Verbal groups - aal=al) C'_ﬂ.:}q_;.d\) oo Uhas JaSiu o palaall 028 ‘_g-

4;_1\)}\ a)'al;An
pelsl 5 oS addail) Cle ganall-
Modal +Infinitive : Js¥ g5

1t s ¢ Wle b <3 3l Modal Auxiliary ) o5 S3-

.(Infinitive - »xadl) agdl Blas can, could, shall, should, will, would, may, might

o palaall (pe Slld (5 KX (azAS 13l (Bare Infinitive —JB:A-}AS\ )MA]\ K @}A\ )w\) e allall sl gﬁ:'

E dndla 4l oS dinaa

«(an infinitive without "to" ) s (an infinitive with "to" ) LS3 cadlull
.."Bare Infinitive" =3 (The infinitive with "to")

Modal +Infinitive :Js¥ g sl e Jle-
could see -1
Modal s >> could
(Bare Infinitive -25a&l jaadl ) u pall jaadl) o >> see
.. Modal +Infinitive Lual La 13-
will come -2
Modal s >> will
(Bare Infinitive -25a&ll jaadl o i pall juadl) »>> come
.. Modal +Infinitive Ll la 13-
. Adadl) e ganall J5¥) ¢ sl apilly 13a-
Have +Past Participle : 3 g sdi*
Had, Has, Have : o5 -
have telephoned -1 /J%s-
."telephone" J=&ll Past Participle 4 s» >> telephoned
. phiie Jad a¥(—ed ) LoVl Jail) e Lial-

has begun -2
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& dadll JSG s 1N alatie ye J28 ga "begin" J=dll <"begin" J=dll Past Participle 4 ¢ >> begun
..Past Participle 4 s

.. (Had, Has, Have) + Past Participle 13-

(e e ol g Ja) Jaill g 55 e adiag Gl

BE +Present Participle : il g sili*

(ming 4l lias J=ill 5 5) "non-finite verbs - 33sa il Jedll" 3 JUS Gl Present Participle LS
..(=ing) Jadll e Cawi Present Participle Jl Ala 8 i o)

.. (finite verb -33as J=3) s 5 "is, are, am, was, were, been" st s (BE) 43 5aSl Jad Ll T31-
.. (finite verb -3s= n& Jad) sa Present Participle 4/ -

are coming -1 /JGs-

(BE) 4i5iS J28 >> are

(—ing) 4 Cilas J=dll >> coming

were waiting -2

(BE) 435S J=é >> were

(—ing) A wsbas Jadll >> waiting

il e gasall GBI g ) 5 13-

BE +Past Participle : &) g sl

is grown -1/JG-

(BE) 458 dad >> s

"grow" J=&ll Past Participle 41 s >> grown
was broken -2

(BE) 43518 J=é >> was

"broke" J=&ll Past Participle 4! s >> broken
. Agdadl) e sanall il )l g sl sa 1aa

DO +Infinitive : (walddl g 5ilI*

oyl 5l jas &l 3 (finite verbs - s3das Jlxdl) & 4330 JxéY1 s3a¢ (Do, Does, Did) sSi % DO -
.(Infinitive-_uadl ) agall lilas "aasll i 45 3
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did not like -1 /Jts-

DO ) s& >> did

(Bare Infinitive -3534ll jaadll o)z pall Huadl) @ >> like

:Bare Infinitive 4/ 14k salo*

.. "Modals" 2~ b -

L"DO" 2 Sh 8 5

Did you know? -2

DO Al sl 42ua 24 >> Did

..(Bare Infinitive of "know" — " know" J8ll 2534l Huadl ¢ s pall juadl) s >> know
el e panall Guelall g 50 ga 134

The first four types can be combined with one another to form more complex verbal groups
like:

Ahmed will have finished that book by Friday. (Type 1 & 2)

He has been learning English for four years. (Type 2 & 3)

He will have been learning English for five years by next October. (Type 1,2 & 3)
The president could be seen by everyone. (Types 1 & 4)

He is being called now. (Type 3 & 4)

(Sadll (30 131) "combined - 5a" 153585 O ey (el N el ¢ S (JsY) g sill) A5V an N g1 Y-
ST aglaa o)) LSSy (U 5 aine Jan at Jua¥) Taied ST agladl) e ganal) 3 lua muadl ((any ae& i
(Umr a5 DDA (e Taias

Modal +Infinitive sa 5 Js¥) g sill Ul =1/J8) Jass e-
Have +Past Participle s Ul ¢ sill as

Ahmed will have finished that book by Friday -

w8l g il da s e J ¥ & 5l > will have finished

3l adll) S el S lede 5% Y (Infinitive - aac) o Alall s3a i "have" >> will + have
(s g s s 1)

Have +Past Participle = ( 4l ¢ sl 54 13a) >> have + finished
. an Leghay ) die S 5 Y1 & 63 G (combination — cuS 5ill) W e g JEall 138 T30

Have +Past Participle 52 Ul g gl Ul =2
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BE +Present Participle s 5 QU & il an
He has been learning English for four years-
LAl e il b g e SN & 6 > has been learning

"finite — 23s4"< has sla (S g 5l 58 138) >> has + been
."Be" La¥l Jaill ;e 353k (been) Past Participle+(has, have, had) o5& 3

..been s "Be" Al Past Participle 13-
(G & sl sa 1) >> been + learning
"Be" J=ill Past Participle ) 54 5 (Be) 43538l J=é >> been
.. (-ing ) 4 Cilias J=dl) sl Present Participle ) s >> learning
Lol 5 S e sl S L g JU) 13 T3
) Jaal 8 LS ¢ g5l 3 day ) Lasf i€y -3
He will have been learning English for five years by next October-
RGP RS P P PRSI kP
Modal +Infinitive s s Js¥) g sill L -
Have +Past Participle s SU ¢ 5l xe
BE +Present Participle s 5 QU g 5ill an
(s g 5 s 138) >> will have -
Modal Auxiliary >> will

(Infinitive -_x=4ll) >> have

(S & Al g8 138) >> have been -

22l & "Have" ) s4 >> have

"Be" 4i5uSll J28 (1 Past Participle 4! s >> been

(&Gl g il g8 13a) >> been learning -

"have" - Zid LY (been) i€ 5 aclill (3"Be" I s >> been

cAdedll Gle ganall e GEN & Gl LW ¢ guail 4553l J28 223 el ¢ Present Participle s#>> learning

.(into one complex verbal group — sdise saal s 4ilad 4 gana ) Gl 5 S 5 J6Y) g sl Likay -
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Modal +Infinitive sa5 Js¥ g sill Ll ) JEall 18 3 -4
BE +Past Participle s 5 &) )l g 53l as

The president could be seen by everyone -

could be -

Modal Auxiliary >> could

"to" AalS Leiay ol 5 i ol " he of Jaadliy "Be" 43 5uSll Jadl Infinitive Jiad) daua La Ll >> be
(Bare Infinitive - g rall juadl) a 1)

be seen -
43510 J=8 >> pe
Past Participle of verb "see" s& >> seen
L Vs OV g sl G S S W e gy JU) 12
BE +Present Participle s &Gl g gill Uk ) -5
BE +Past Participle s &l ) & il s
He is being called now -
(El & 5l g 13a) >> s being -
(Be) 458l J=d >> s
being =(—ing ) + (Be) &' ¢ (—ing ) + J=dll 545 < Present Participle 1! s >> being
(& g5l s 13a) >> being called -
"is" o G 4 (—ing ) 4 lilas ela La (S0 (Be) 435uS) J=é >> being

Past Participle of verb "call" 54 >> called

All such groups are formed in the order 1, 2, 3, 4, as follows:
4 3 2 1
Modal + (Have +Past Participle) +(Be +Present Participle) +(4Be +Past Participle)
Db LS4 32 1 il e il ailull cile gaaal) K-
4 3 2 1
Modal + (Have +Past Participle) +(Be +Present Participle) +(4Be +Past Participle)

AL G U8 il e sl e S 8 G e il gl OV Jd S g sl e o LSy Y T3
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Gl + SE+ W e sl G+ OV e sl e e ) e )5Sy o camg Gl -
LAl e sl N+ JgY) g
.. (Rule of combination — Lal i) sf a5 83018) (5% 1388 Lol ¢ sl 4y yLall o3¢y
S 4 32 1 oS o & Y s il -
Js¥ g5l >> Modal +Infinitive -1
Sl ¢ il >> Have +Past Participle -2
Al ¢ il >> BE +Present Participle -3
&) Al g sl >> BE +Past Participle -4
(46362 61) il 1w o e Y 4Bl ALY 3 Uild LS any ag€ 50 day 35 of L i 131 10
Note 1: The meaning of the verbal group is contained in the last word.

e.g. He has been learning English for four years.

.. oY) 4l 3 ((contained -2 ) 4dedl) 4e gaaall aall 1 Y ads salal)
.. ( Lexical meaning ) = se 385 cayladll dc ganall 4l 43 Oy W ) el o A 4k jal-

He has been learning English for four years /Jt

é\ln;l\ 538 ‘_,’A L ‘u.\jaj BEEY Lﬁ\ "Function" Laa ?G_‘! Mln;j\ sl ‘_g ‘;\M Lsi \jslo:\ N >> has been -
(i aih )

( Lexical meaning -l inall dllai ) gl ¢ indl) ellai >> |earning -
ool e 3yl "r-j,_‘g Lo add" e Ciaat el Lias
oY) ARl e AR agladll dc gendl 8 Jaall T3

Note 2: Only the first word of a verbal group is affected by person, number and tense. The
first word is what makes the group finite.

e.g. He has been learning English for four years.

| have been learning English for four years.

They have been learning English for four years.

sagilil) ads aLdl)
Lol o aaadl o addll Lle % addedll 4e gandll e (I 5Y) 4l L
. (flnlte - 53‘9&2) U"S:h.u ‘_A‘gy‘ PUNNIE] ‘\.;\LLS 4AC gana L\gﬂ uLS Jal-

.(finite — s3334)< 4e sanall aan Jad I & 4ledll de ganall & (U5Y) Juill (1) (531 4l 3
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He has been learning English for four years -1 /J%

..(finite — »33a%) < 4e sandll mian J2ay 53 25 (finite verb — 33as J=d) 8 >> has
has" sas (DY) dadll l) (s 4Rl e 3gry Juadll 5 adiak 4lad 4c gena L Ll T3

| have been learning English for four years -2

13 A adadll 4 sandl) (4 5 53 sl g Mhave” of ez -

"He has" << J ¥ JGal i -
“n haveu @Aaiﬁ ‘)3’5 Lﬁ‘ﬂ‘ ‘BA Lﬂﬂ " haS" Ui LILAY " In ‘-A‘\ " Heu d‘:m‘ 1_"):3; Ledie

..(Non-finite — s33a4 &) < Lagia IS ()Y Laa LS Uiy (learning 5 been) -

¢ Past Participle s >> been -
..( Non-finite verbs -s33as uall Jad¥)) sia s2a) & " Past Participle” 4 o S

¢« Present Participle » >> learning -
..( Non-finite verbs -s33as juall Jei¥)) sia s3] & " Present Participle” 4 of S

.(finite — 33a2) (s s wa gl sa J Y1 Jadl) G QIS (e it T

They have been learning English for four years -3

.. o35 g3l g8 "have" -
They have <isual << He has-
.. 1,34 Al been learning-

..(finite — e335%) 43ladll e sanall aren dan 3 58 La JY) Jadl) jal-

"has" Sadll Jadl) e 3 sy Junill 5 o33ak 4ddad 4o sene o (has been learning) ol il gakiv 13
. Aladl) 4o ganall & cela A Y ALK 4

Exercise:

Choose the correct order for each verbal group:

1. a. have seen could b. could seen have

c. could have seen d. seen could have

L OV ) oY sl Al Laa (b, ) o bas 8 el LaaY) sda 8 Modal I e Gaain -1

(Past Participle) <> "seen" la >> b, could seen have-
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"have" la >> ¢, could have seen-

«(Past Participle) J& b " have" ol Wl # ,Sd Ls-
c. could have seen s& alall sda & meaall Gl sall 13

Modal +Infinitive < Js¥) g sl Lilas -

Have +Past Participle < Ul ¢ sil ae

2. a. have should been doing b. doing should have been
c. have been should doing d. should have been doing
LS URY) o (8 Modal I g s -2

(d. should have been doing) s 4ula 8 "Modal" (e (s sina s aa ol Gl gall () Jaadl
should have been doing -

Js¥ g sl >> should have -

"Modal" s >> should

(Infinitive — Laas) s >> have

Sl ¢ 8l >> have been -

" Have" s >> have

(Past Participle) s& >> been

&lil g 53l >> been doing

"BE" 43581 J=8 58 >> been

(-ing + J=dll) &) (Present Participle) s >> doing

3. a. has been studying b. studying has been

c. been studying has d. studying been has

. (Have +Past Participle) s 54l b oy S g 5l e Cnins 131 ¢ 22 0 ¥ Y s Modal s Ja -3
(a. has been studying) )Y & laliaa 68 ¢« (has) s» " Have" JUall laa 8-

has been studying -

S g il >> has been -
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"Have" s >> has

(Past Participle of verb "be") s& >> been

been studying -

"BE" 435Sl (28 g8 >> been

(-ing + J=dll) ! (Present Participle) s >> studying

. akla 4l (b, ¢, d) dlall o2a & 13-
Verbal Group Types
aglaill 4c senall 1 il
coselal) el I (i) ¢ S (Y g sl zan s Tl aali 583 cagdadl) 4 genall ¢ 5l e g 53 IS (5 yhati Y)-
Dol (o Jilhy agie 2al 5 JS 22l (V) 5
Type 1 Modal +Infinitive :

e The main verb which follows a modal auxiliary will always be in the bare infinitive (without
”to”)_

e.g. can see, could see

e Modals are not affected by person and number.
e.g. He must know how to speak English.

They must know how to speak English.

e All verbal groups beginning with a modal are finite.
:(Modal +Infinitive) s& s [Jg¥) & s - T

Jadll 138 G of 53 (e 61 (Bare Infinitive) Wila ¢ 58 Modal Auxiliary 41 iy 531 ol Jadll -1
._”to” w

-
P ~

N
o 2 h TN . . s i 4 . “
00" = 324 ol g5 (Bare Infinitive) s& Jxdl) 138 () 5$ Modal ) axe b Jad o o3

~ -

~_-

couldtosee ' cantosee << Jsill ¢li€ay Y /Jla

couldsee sl cansee << Jaall Sy (81
. 25ah sl e Hlas 43 ) (Bare Infinitive) s " see" (oY) Jadll Lia-
e 138 5> 23l 5 padilly < gle §55 Y Modal 1 -2

lede 5353 ¥ Modals Vs «om 3l 5 20l 5 Gasially agile 555 (finite verbs — s33aall Jled¥1) of Tl Ll
Auald s o3 (finjte — s3dak) xS 81 5 2l 5 padlly

—-———
7

\\
VAT
Vool ;
o _-

~_—-
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saal) 5 padally e 5 Y Lels 4uald Alla el Uis " Modals” ) o
..(finite — s33a4) Ciela i

He must know how to speak English /i«

They must know how to speak English

ool a3l U e Latie i sl IS 6 o8 i ol

He must know -

LGBl Caplall (A adga yie Jeld 8 >> He

ool bl o el G il oa WS Gy 5 43led 4 gana A >> must know

They must know -

LB Caplall 8 4l g aes Jeld 8 >> They

ool sl o ad a8l Cun il o8 LS Gy 5 43led 4 gana A >> must know

.(finite -0 59353) s Modal = fag i) 4ddadl) e sanall (S -3

(finite ~0i533a8) 1 sin a5 a3l 5 23l) 5 Gl Lo i3 o adladll e sanall 838 of s

Type 2 Have +Past Participle :

This type is an expression of the perfect aspect. “Have” is used as a helping verb (auxiliary
verb). The helping verb “have” is finite and changes according to person, number and tense.
For example:

He has read the book already. (present perfect tense)
We have read the book already. (present perfect tense)

The students had already gathered in class when the teacher entered. (past perfect tense)

:(Have +Past Participle) s 5 /Al g sil
..( perfect aspect -"aUll J=dll Lpa" G Cila) U ((expression -_mad) s g sill 1a-

(The progressive aspect s The perfect aspect) ce 4bad) 4 )3l o ) gall (8 5 gin ya La (5 SA X1 131
teeilial e

(The Past perfect s The Present perfect)

Ll e gl g La Wl L Jie (Have +Past Participle) = ¢l "The perfect aspect” -
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.. (&% ¢ 51l = The perfect aspect ) of -
..(Auxiliary verb -aclua J28) < 23354 " Have" -
Lol sl asal) G A% 4l T Gl U K3 > (finite — 33a) s "have" acludl Jadll-
(Present perfect tense) = s 5 >> He has read the book already -1 /JU«-
(Present perfect tense) =2 25 >>We have read the book already -2

=2 s4 9 >> The students had already gathered in class when the teacher entered -3
.. (Past perfect tense)

" Have " J bl dapa & "had" 5 " had" Leadin) 13 zale sla o3l 138 > el sy a0
Type 3 BE +Present Participle :

This type is an expression of the progressive aspect. “Be” is used as a helping verb (auxiliary
verb). The helping verb “be” is finite and changes according to person, number and tense.
For example:

He is coming. (present progressive)
They are coming. (present progressive)
He was waiting. (past progressive)
They were waiting. (past progressive)
:(BE +Present Participle) s &Il g o)

( progressive aspect - >3 Qila) A1 Hued g8 g Gl -

( perfect aspect -"all Jedll dxpa" Jiall cila) U 03 58 < "Have +Past Participle"dsY! ¢ 53 13-

143l (a5 ¢( progressive aspect - >3 caila) A S 54 < "BE +Present Participle”" S8 g sl

( Past progressive s Present progressive)

Lol ol sasd) o paddll e S5 seb (finite -93a%) s 5 «(Auxiliary verb -aclue Jai) < 233300 " BE"-

s He is coming -1 /JGe
: Present progressive Lads
mmmemmeeeeeee———-—--2 L They are coming -2

Ll el N R JEACH 88" BE" 45 skl Jad of s Jaadl -
< oaddl) g ) G )i g ¢(finite -0)a3ak) Lea 13¢] ¢ pad &) 5 2aall a1y (are - is) -

e e LR Ty —— He was waiting -3

o2 L They were waiting -4
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. oandll 5ol a5 (were -was ) of Laagd Ui Jaadu -
Pl 5 V) aaad) G ol ¥

___________________ i —— Heiscoming

——— He was waiting

e —————————————————— — Heiscoming *
' Ppresent progressive - o¥lie L 1|
L memmeemmeeeeeee———-42 L_They are coming
e e ————— — He was waiting *
: Past progressive - ¥ laa L
L mmeccmccc——————--2 L__They were waiting

Type 4 BE +Past Participle :
This type produces the passive voice (in contrast with the active voice).

The verb is active in this example:

Ahmed broke the window. (active voice)
The verb is passive in this example:

The window was broken. (passive voice)
:(BE +Present Participle) s /g2l g o)

3ol Lalidal Lia) Slad ) £€ a8l Sl 5o IS (e aSil 4d slle Passive 4w Ja «Passive I Lidasy ¢ 5ill 18-
(”\jﬁﬂ‘d‘bﬁbﬂ&\.ﬂuhu\%)ﬂ‘@\mJﬁﬂ\ﬁ}bﬂﬂ&\bﬁ@b@gjd}zﬂ\u:ﬁ)ﬂ‘

LAY aslll d "voice" I ¢ )5l saa) 4 Passive -
(Jseaall i) siiwe Ciga >> [ Passive voice ] ¢! «(Active sl Passive) 1 0sS: % "voice" -

(pstall i ) ol 2a) 5ie Cim >> [ Active voice |

Ul s 8" Active” sls J=dll -

astaall S ) (active voice) >> Ahmed broke the window
:JUall s 8" Passive " sls Jadll -

Jsexall S ) (Passive voice) >> The window was broken
o Jeldll S slinia g5 43 Jgriall Lida] Ll ga Ui olilad (2%

.. (the window) s 4 Js=id) 5 (Ahmed) s Jeldll 1 V) alaall -
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..(was broken) — Wlixg a3 (the window) = Ul 13) dlgd Jeldll cla "the window" : 4l alaall -
..(Be +Past Participle) s 5 4dxdll cile sanall (e a )1l ¢ 530 aladinly Passive I sl 13-

(The window was broken) << 4laall casuali-

"Be" 435Sl Jaé >> was

[ break, broke, broken ] < Past Participle of verb "break" >> broken

Jsexall Sl ) (Passive voice) ) 4aua Laa >> was broken -

D pge pandli

Modal Auxiliary 1 :Jg%¥) & sill-
perfect aspect ! ;ALY ¢ gill-
progressive aspect ! sGalll) £ sl

Passive voice Il ;&1 g sill-

Exercise:

Decide whether the type of the verbal group in each sentence is:

a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)
c. Type 3 (be +present participle)  d. Type 4 (be +past participle)

1. The machine was fixed.

(Verbal group -4lz8 4= sans) >> was fixed -1

"be" 4 sl Jxé >> was
Past Participle of the verb "fix" >> fixed

Jseaall Sudl 51 (Passive voice) A1 sle Jlia 13a Tai-

d. Type 4 (be +past participle) s <l sal-

2. He can fix any machine.

can fix -2

Modal Auxiliary >> can
"Bare Infinitive" <8l Lsity & 5 (Infinitive -_as) >> fix
LIV g sl e Jle 1aa 1) ¢(adapuall dxpall) aslal! Jadll dapay Ua ol " fix"-

a. Type 1 (modal +infinitive) s maaall Gl sall-
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3. He is fixing the machine.

is fixing -3

" pe" 435l Jad >> s

(fix + ing) = (-ing + J=dll) ) Present Participle >> fixing
.. <l e gl s s (progressive aspect) 41 e Jie 14 13-

c. Type 3 (be +present participle) s gsall < sall-

4. He has fixed the machine.

has fixed -4

"have" (s 2,iall dxpa 545 >> has

Past Participle of the verb "fix" >> fixed

. Sl g sl s (perfect aspect) I e Qi 13a 131

ke Laagl g oamlall () 8 el LY 13K i > has -
X" oY) dadll e (Past Participle) J) daua & 5 > fixed
b. Type 2 (have +past participle) s guawall il sl -
Type 5 DO +Infinitive :

In this type, the helping verb “do” is called an operator. We call it an operator because it
helps in a number of operations performed on the verb phrase (VP). Some of these
operations are:

Operation 1: Negative
To form the negative, we put “not” immediately after the operator.

e.g. He does not want it. They did not come here.

: "DO +Infinitive" /s 5 4ddadll 4c sanall ¢ i (o ualdl) £ g il Y)-
.. dale 4l d534 ) (an operator) = =3 " DO" aeludl Jadll < ¢ 5ill 1a-

Cre e Af e Loy o A3 5 avanll s3gd v Slia g ‘(an operator -LL:;) =058 (Al fal-
-.(VP) 4ddxdll s Ll e ( performed— %) 3 (operations -ililas ) )

.Adliad) (operations - <hlee) ) oda Jae 8 Liaeluy (an operator) 13-

2 g JeaVl Sy ¢ agm paill o) gall 028 & Jaad (operations - <llec) &3 Uelacly S Al 1 ekall Jgag*
L3 0e S
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: operations ) s3a (s 13-

:(Negative -All) AoV Llaad) -1

.. (operator) ) 20 1, 8 (not) 4alS gz f e Y il e lua Ll 13-
..(operator) J) -2 " DO" AlS allal) o2 &

He does not want it (1/dbe-

LAl Caphall (& a8l 85" DO" Jadl) (e g ladll 3 fall drpa 25 >> does
.. 158 (does) 2= &85 >> not

..(operator) J) 2 " not" i (Lo dlaa A5 g) Al ¢ fal S

.. "does" s (operator) J) a= " not" Ll aleall o8 &

They did not come here (2

L"DO" dadll (e palall drpa 545 >> did

.. 155 (did) 2= &85 >> not

.. [ 4ie operation I o3 Jaail 5l ] ¢l guail " not" s2es &l 55 ¢ "did" 525 (an operator) Lual Lia-
Operation 2: Interrogative (question)

The interrogative is formed by placing the operator before the subject and leaving the rest
of the sentence unchanged.

e.g. They come here.
Do they come here? (interrogative)

: "JIsd)” (Interrogative -4aliindl) 450N 4leat) -1
2y A anses Lay) Lalies 5 (question) A OIS AU e 55 of cdedl g1 53 e Tail ol 583 La (5 S
..(Interrogative -4xliiuyl)

() 525Y) -Interrogation) e 253k "ale&in¥) - Interrogative" *
. (Slesladl (e B8l Interrogate information ) & Leie ()

«aleall &1 (operator) 4 2= "not" @i (Operation 1 - (Y 4daall) 3
o Agalgfind aleall daal "delal J8 (operator) J) gzl (Operation 2 - 456l 4leall) & La (<

LB Y o WS aleall 6y 5 "Jelill” B (operator) I i 13-
They come here /is-
.. (an operator) ! zUias aulgiinl aleall delua Jaal-

.."Do" s» (operator) Jl (sSed "s" s a ¥ clilal 50 (come) 2 Al oda & -
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Do they come here? : J -

R 3 il e 0 Y el 5 oSl i 565 o el s 5 ) 3 " Di0" S Linn s L

."Do" < (operator) J e 3 sxy Juaidll 5 4nlgiinl & >> (Do they come here?) 13-
Operation 3: Tag question

He did his homework, didn’t he?

They don’t come here, do they?

: (Tag question - LS i) J) gu) 45N dland) -1
..(an operator) I U3 AS gl JI g g puail-

¢S 65 Jlga gl () cansal o UJJ E) (He did his homework) << alaall o3 Wal ¢l 13) -1/ ba-
..(He did his homework, didn’t he?) << 4leall muaiué "did"< (operator) I zliss

A58 Jlsw s >> didn't he -

.. (No -Y)sl (Yes - pai)s s 2S5l Il ()5S l salle-

.. Yes, he did << cufis il sall () Sl (e 0 sSau JV sl 138 8 oS0

.. (operator - Jale) I 58 "did" llsl) o2a 8-

They don’t come here, do they? -2

AS 55 Jise 58 >> do they -

S s W ¢ gemy K1 Ui sliediind 5 (operator - Jele) ) 54 >> do -

.. No, they don't << (i ¢ sSam 354l (e il gall-

r o lual (operator = d.ql.r_) Al e PRER Lﬁﬂ\ D) (operation = C_nL)Lud\) (e &\}\\ Sy | o® XY ]
1- Making Negative [ 4dia lgles -1
2- Forming Question [ Ay deloa -2
3- Tag question al[ S ¢ g -3
Sl gal) —ilS jadl)
Operators:

In addition to “do, does and did”, operators also include:
1. The modal auxiliaries (can, could, may, might.. etc)

e.g. Operation 1: He could not come.
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Operation 2: Could he come?

Operation 3. He couldn’t come, could he?

..(operators - Jalse ) I Jsa ST Galas ) Jaiin Y-

1delii 5 Al (operators - el s2) dlin (el ¢ 5l i (do, does, did) ) 4ibaYl-
:(modal auxiliaries)-! -1

(can, could, may, might.. etc) /Jie-

1 4deall >> He could not come -1 /Jie-

&l aail "could"< (operator - Jale) ) axy "not" L -

2 4leall >> Could he come? -2

cAalgiin) dapa Lelaal aleall 4y 3 "could"< (operator - dale) ) Liaia s

3 4ileall >> He couldn’t come, could he? -3

S5 g aaail "could"< (operator - Jale) ) Laadiul-

2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in British English ).

The following are examples of “have” as a helping verb operator:

Operation 1: They have not come yet.

Operation 2: Have they come already?

Operation 3: They haven’t come yet, have they?

..(operators - Jalse) S (sleny 8> 1 “have”, “has”, “had” -2

..(operators - el s£) S agariiv Latie dgulad JdlS 5 saelue JuadlS agalasivd Sad) e -
Al ) 43l e Aald Alla b3gd apuld Jladl agdl 48300 5 (Operators - Jal s2) < agediiui Ladic -

deloe JriS W&as (an operator — Em\.c) 055 Ladie “have” A pe o sSia aalll) aliay) -
:( helping verb operator ) =8

1 42l >> They have not come yet -1

( helping verb -aclus J=3) s 5 (an operator — Sle) >> have -

(main verb -ulul J28) 4 >> come -

o8 adaall delua Jaail " have"< (operator - Jale) ) 2 "not" 4l Cela -
2 «ilaall >> Have they come already? -2

. Asalgdin) dna lelaadl alaall 2310y 3" Have" < (operator - Jale) I ¢la -
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..(main verb -l J28) 54 "come" s ( helping verb -i=lus Jad) sls Ua " Have" ;-
3 4leall >> They haven’t come yet, have they? -3

..(helping verb -2clus J28) 2 5 (operator - Jale) ¢la >> have -

..(main verb - lul J28) >> come

S5l Jl e daad " Have" < (operator - Jale) ) el -

.2clie Jab < (operator - dale) IV DA (e IS a8 8 s ) 3 aglaal) A2 lpa 13-

This is an example of “have” as a main verb operator in British English:
Operation 2: Have you any money? (British English)
Compare: Do you have any money? (American English)

038 5] bl JaiS ik (operator - Jele) S 23330 88 " Have" of dus aals OV @llia o U S5 ¥
..( main verb operator ) e [ 4xithay ) 4alll 8 laaas aalal) allsl)

12 4dasdl e Jl

( Have you any money? ) :d & 4axilay ) 4alll & Jlall allas Larie -1

..(main verb bl J=2) s 5 (operator - dale) ela " Have" << 4gillay ) 4alll & -
1 JE) e i) JD ¢ s *

( Do you have any money? ) :Js& 4 ¥ aalll 4 Jladl allas Ledie -2

s "have" s ¢«( helping verb -xclus J28) 58 5 (operator - Jale) cla " Do" << 4y oY) aalll & -
..(The main verb -olu¥! Jadll)

Al (operator - dale) axiiui «( Do you have any money? ) :J st &Sy ¥ axlll i Sale 13-
" have"< (The main verb -oubu¥! Jadll) a2dins ¥ 5 ¢Jl g delal allall o3 (8 aclis J2iS " DO" < 58
..l delual Ua (operator - dale) <

-——
- ~
e

~
4 . * \
voneagh
\\ _

~_-

oSl 4l auail (operator - dele) S dwladiul diSay ((main verb - bul J=d) < " Have" o5 Ledie-
. Agillay ) 4alll 8 Jadd

Al adid LS e Jl g delual aelie (=i " DO" < 545 (Operator - dale) aadiv ale -
iy, 451 b Ll (Sl (ha g d 3l

n o owuzn u n u n u

3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs.

The following are examples of “is” as a main verb operator:
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Operation 1: He is not here.
Operation 2: Is he here.
Operation 3: He is here, isn’t he?

sl gl JladlS () iiia) 5 (operators - Jalse) S (skexy 3 > 1“am”, “is”, “are”, “was”, “were” -3
(4S50 Y! af dlday 5l 42l & Ja) GildlS 4als Vs La 2a 0 Y 5 (auxiliary verbs) < saclue Jladls
s oialll S @ c‘z,,_ﬁd\ o Ll Lﬁ‘

el =i Cailax (operator - dele) 058 Ledie “js” (e )5S 400 ALY
:(main verb operator) =

1 4deall >> He is not here -1
.. 4aite 4leal) Jaad sany "not" Ll WY (operator - dale) s gl Gudiy 5 oull Jad 8 >> s
2 4leall >> |5 he here? -2

Jaé sl x50 ¥ calgiind aleal) dapa Jeail aleal) d4lay i olinca s s " S" < (Operator - Jale) I Ldal -
..(The main verb -sbs¥! Jedll) s " |s" T3lc_al

3 4kl >> He is here, isn’t he? -3
..(main verb -sbul J28) 8 S84l Luds 5 (operator - dale) dI g4 >> s

The following are examples of “is” as a helping verb operator:

Operation 1: He is not coming.
Operation 2: Is he coming?
Operation 3: He is not coming, is he?

a0 lua JuiS Caiias (operator - dale) 058 Ladie “is” (e ¢ s 4allall 4t
:(helping verb operator) =8

1 4!l >> He is not coming -1

..(The main verb - L) Jadll) 4 >> coming

. ot alaall debua Jaad oan ¢ls "not" oY (operator - dele) s 5 aclue Jaé 4 >> s

2 4leall >> |5 he coming? -2

..(The main verb - LY J2dll) 4 >> coming

Al Ledeay 5 Lgrnan alaad) 4la 8 sliedilinl 5 (Operator - dele) 58 5 2ol Jad 58 >> s
3 4le2ll >> He is not coming, is he? -3

..(The main verb - L) Jadll) 4 >> coming
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v AS gl g W aadl 8 olieadinl g (operator - Jale) & 5 acbua Jad 4 >> s
Exercise:

Decide whether the underlined verb is:

a. a main verb operator b. a helping verb operator c. not an operator

1. They do not come here often.

& Alaall debua Jradd "not" o2z sla 5 2ol J28 1 5 (Operator - Jale) s > do -1
..(" helping verb operator" e s 13l)
b. a helping verb operator s <l sall 13 ¢((The main verb -s¥! Jxdll) 58 > come

2. | have not seen this movie yet.

& alaall delua Jaad "not" sae ela 5 aclue Jad 4 5 (Operator - Jale) s >have -
..(" helping verb operator" e s 131)
b. a helping verb operator s < sall 13 ((The main verb -sbus¥! Jaill) 58 > seen

3. Do you have a copy of the movie.

$¢J) guill A lal slicadiul Ja ¢Sy ((The main verb - L) Jadl) 8 > have -

13 (el " D" e Lusall Jadl) iaasiad Jy eJadi o) Y

Jpud) W @..4:\3 alaal) alaly ‘;% olieadtiul (The helping_verb -ac Lieall stﬂ) > " D" -

«J)5udl 22lpal (Operator - Jale) S Ua 233505 21 " have" ¢Sl «(_helping verb operator) = 545
b. a helping verb operator s < sall 13 ¢ qusbusl JaiS ola Lo

4, He is not here.

Lis" e AT Jadaleall ol Aoa e Y -4
«(main verb operator) =% s 13¢(operator - Jsle) st 5(The main verb -mlul) J=ill) sa > js 13-
a. a main verb operator s zesall Gl sall Mis" < (operator - Jale) ) a2 "not" Jaay L4l Lial

5. He isn’t going, is he?
..(The main verb - uls¥! J2dll) 58 >> going -5

Uiial 5 (helping verb operator) se s 13 ((operator - Jele) s 5 aclus Jad s >> s
b. a helping verb operator s <l sall 131 ¢ "js" aeluall Jadll alasiuly 28 5l J) s

Form and Function
apbagll 5 axuall
Form and Function: 44kl 5 4iual)
Form is what the word/phrase/clause look like.
e.g. noun, verb, noun phrase, verb phrase, relative clause

Function is the “job” of the word/phrase/clause in a sentence.
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e.g. Subject, Verb (Predicator), Direct Object, Complement

ol 8 Akl gl g sl GLA e DUl Cidatin o paladll sda
..(word/phrase/clause) ) 4+ Jeka s Jeladll 5l JSi s 14isall-
LMol Apa” oo jlall Hedae 5 Ml Aapa" e 4alSl) jedae o (4l
Ml alaall"J gem sall an) Alaa cdalad o sl cdrand o jle (Jad ol [Jie-
sl 4ia Jadl) ) (g (au ela) Jadll 138 10585 Lavie Dliad-

cdad Lgiipa 4alSl (o) (o) (J28 Dela) Sl o3 1 580
AR Ol pualaall b I alial agd U S5 (VP) 5 (NP)-
. a0 ke sa s (clauses — <l 5l Jaall) g ) gl (sas) o34 > "relative clause” -
L) eLs o Al ) palaadl i (clauses — <l i Jeall) ) e Giatiut
..lall 3 (word/phrase/clause) 4 daall (e o e sa g2aduli oli-
.. daall & (word/phrase/clause) ) dlzés L (g)-

(NP) 4aans¥! i jlal) of 1 U 583 LS (NP) 4zan¥) &l slinll Jue 58 5 > (Subject -laisall 5 Jelall) -1 /e
..(Subjects - Slsin 5 Jel ) ¢ <5 38

. 4l Il > (Subject) Jeldll caiuall > (NP) 4paus) o leal) 13-

ina 05 8 54k ()5S 38 Lyl > (2idl — Predicator) J=dll -2

AISS i) Ladie dhsa ()5S

.(Predicator) usbsYU e A4S Cailal Laxie 4yl g o 5Si-

«( Predicate -44) 2ili) 5 Jeli 1 o (g sind adapdl Jaadl of L6 LeS-

¢(2iall — Predicator) =% 4l diwall (A Jadll

"it can be filled only with verb" s J=dlls (1 5k) lelaz 2l o 8% (2iwall-Predicator )l dada 5 oSl
LA S aapal (Verb) mllhasas adiing -

(s Lo adida gl i) ki 4l " Verh" (oane Y 4l £ (Predicator) sl (Verb) pllaas ardius 8-
..(Predicator)

sall g adks gl e S (Verb) (ooms a3 s ¢(Predicator) (sesse Bale PRESNER) ¢ gy Jagatl (Sl -
Aleall 8 Jedl) Lelay ) 4dida 1 (to indicate — ¢l 5 saidl) (Predicator) el alasiu) Loaf e o<1
oAbl @l ualadll 8 5LE8 > Direct Object -3

oo ls ) o ualaall 038 i8> Complement -4
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Exercise:
Choose (a) if the given term refers to a form and (b) if it refers to a function.
a. form b. function
1. pronominal group
(el de gana) 4 ppaall 4o ganalls b sexi () CLSH (4 e ganal o) o jlall adida g ol dspa sda Ja -1
L Weall e Qlia US54y ppaall de geaall oo T Ly
Ll < g Jie 5 ¢ We < g Wl ey e 4o gena (& (We all)-

4c gead" 5l "phrase - Ales 4 5) o jleall” 4y jelsi Al jelaall oa (51) Apall and (b 4 peall de senall T3
a. form s <l sl ¢(group of the words — Sl (4

2. indirect object
A(NP) 4aend ol 058 L Ue 5 casiay 4 >> indirect object -2
..(Functions of the "NP" — 4xau¥! s jlaadl cailda g ) (a8 2ay 2alau
..(indirect object - il e 43 Js2ia) & 4kl s ¢ (NP) 4pan) o e (A 4rpall o sl
b. function s il sall 13-
3. complement

dmall (san) Cal 03a (S 6o a5 058 22y (complement — &) ) e (il >> complement -3
b. function s& i sall 131 ((complement — 4l&all) oy ausi oy ol o jle o 4alSl aily & Jy KU

4. subject
L(NP) 4l o sl sl llle 5ty g Jeldll of Tl olails LS diaiaal Sl Jeldll -4
b. function s& < sall 13 «(Jeld (subject -Jeldll) & 4idasl) 5 (NP) 4pand o e o 4ipall of -
5. noun phrase
rdei il gl (pe 222 Aips dpan¥) o jlall S La Wlle 5 cdiua & (4panY) 5 Ll - noun phrase) -5

..(subject) Jeld ()5S 08 - 1

..(object) 4 Js2ie oS58 - 2

..(direct object) ilw 4 Jsrde 58 - 3
..(indirect object) ,ile e 4 Jgria <508 - 4

a. form s <l sl 13-
Functions of the Noun Phrase (NP):

1. Subject of a Clause
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As we mentioned in Lecture 4, a sentence needs a subject in order to be complete (except
for imperative sentences where the subject is unstated).

e.g. The old man is here.
(NP) ) il ) i (91
Az s jad) sl "Noun Phrase" 3 Juaial 4 (NP) of ales LS
e o jlonll ddliaal) il ) s Ui
il (e gl 5ad0) (Tuise o) JolB) a1 [ Anand) o badl I gY1 4804 6l)-

il CLBf "One Clause sentence" 13 ) ML\.\S.Z\ C_ua.\l deld CUA.! alaal) Qi 4zl )l 3 yaladll L &y L <A

. pseie Y Jeli aa o ¥ alaall oda & >> Go study /die-
Lodels ) zliag (gAY JaAl) s 8 oS5
The old man is here :Jts-

4pan) alea aSrna ol ) J¢(Nominal group -4weul 4las) 58 3 The old man << sa 4leall oda & Jeldll
L [deld ik
man<< (The head -u/Jll)-

old s The << (V%4 o

(Nominal group -4sesl 4 saxall)s aa 5235 5 03al 5 4 sa3aS Jandi (The old man) 435 CLalSll 238 JS-
LAl G pualaall (85 SXLS" (NP) dpenl) Ol jlall (e & 53 A

.. (Simple Clause Sentence -4kl 4leall) 83! Jelé s " The old man" 13-
2. Direct Object of a Verb
Transitive verbs require an object. Monotransitive verbs take only one direct object.
e.g. Ahmed finished his work.
2l Jad) jdlal) 4 Jsrdall 22 [ A dAan) o jlaadl 4l aduli gl

ol g cmd}wulc@)&e‘)m‘w\ubcgh&dﬂ}\ej\fdﬂu}&“ﬁ@idaﬂ\ucADELAU})SJS?.\.\SH\-
.. Jaadilly s Laals S5 )2l (Ditransitive ) Monotransitive) ¢S5 38 el U S5 aadll Juad)

Ahmed finished his work /Jie-
"d il galad 2 3¥ Jaé - Monotransitive" s s Jeld s >> finished

¢(NP) s 13 ¢(Nominal Phrase -4 s le) s >> his work
«( The Direct Object of verb "finished" -"finished"Jxall ilu J s2is) sl Layl
..(The Direct Object is "his work" -" his work" s& La il J s2ddll)
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b s ) DY) 4 S allal) o3a 6 5 aleall 38 8 aal s 4 Jgaia Ll T30-
..U (The Direct Object -l J s2iall) 5%

3. Indirect Object of a Verb

Some transitive verbs require two objects. These are called ditransitive verbs. They take a
direct object and an indirect object.

e.g. He gave Khaled a book. (... gave a book to Khaled)
The shopkeeper sold him some snacks. (... sold some snacks to him)
2 la Jadl dilia jid) dg Jsadal) 3 [ dzan) o jladl 51 adids l)-

il 4. )Y Jdl - Ditransitive Verbs"= aaliged Ll s S L«SJ) Ol sria e (g 5iad 4 U JladY) oams-
L srdd)

(e als 5 51"One indirect object” 5 yilull 44 J seéall (4e 28l 5 51"One direct object” 32l Jud¥ o3a-

e ) 4 J seddl
o8l ) e s il Jgniall g e a8 O &Y 4llall o2a S
(LS s ae ) ) He gave Khaled a book - /Jts-

(@ad pand el LUl The shopkeeper sold him some snacks -
Llagia JS (8 Y srie 3a g cileal) ila -
s aleal) -

.. d=dll 58 >> gave

abook -2 « Khaled -1 << (¥ g2éa a4
..(indirect object) » AYl s (direct object) st Lagie 2al 5 13-

zoail 4laal) 828 re-phrase sl Gl re-state aahiv Jeul oY) Jral-
(AW sl el s8)  (He gave a book to Khaled) << 13a

okl gmial ()5S0 Lgilen Judll 223 3 puilae dan¥) oLl gl aleall o2 5
odbe il Jsadall 8 "t0" ae Cela Sl (NP) 4van¥) o bl 5
il ol Jseidll s >> Khaled 13-

o8kl Jsidl 54 >> 3 book

5 e lla Jad Uiy Jaall ang 070 IS (i ¥ LS 5 el 5e) Jaal 4 alead) i i sale | 43,k
Ll G Y Ly

il aleall -

.. =l 4 >> 50l
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some snacks -2 ¢« him -1 << (¥ gzéa Ll -
..(indirect object) s Yl s (direct object) st Lagie 2l 5 13\

zoail alaall 28 re-phrase sl Sl re-state abiv tJenl oY) Jaal-
(A Qs el a)  (The shopkeeper sold some snacks to him) << 13a

woile il Jgadd) sa "him" dlall Js2id) sa "some snacks" rallall oda A-
il il Jsiall s >> him 13-
8kl Js2idll 8 >> some snacks
4. The Complement of the Subject +BE (is, am, are, was, were)

A complement is a word/phrase/clause that completes the meaning of another
word/phrase/clause. It is necessary for the meaning to be complete.

e.g. Ahmed is my best friend.
: (is, am, are, was, were, been) 4351l Jad + oLl ALaSal) 4 [ A dpand) o jlall dayl 1) A gl)-

[is, am, are, was, were, been] : (555 8 (BE) 43 5uS)) Jad o alas LS-
..(Past Participle) 3! 0« & "been" J=dll

(450 Jadl DA e (51) Jlad¥) 038 JSIA (e alea) ddpen Ul praiai -
OV L sale aaliiu o pualadl) o8 & il e 820 Wl S ) 5 >> (complement -4l&all)-

At o e ol ARS]  adl "a JaE5 1 ["aleas i 5l "alen 405 o lie ol ARIS] 7 b ALEAN iy i
Lfﬁi [u‘dgnb‘)gé ji u‘dA.A

sl (L) QLS 7 a4l Ak -

O il (o (g) AL e anains (gAY [Malan"s il g "alan 4ai" o jlall ol AWlSI] Ale&Al (g0 (g T3
(GaSe iy

(--=mmmmmme- It is necessary for the meaning to complete) / J)s~*
complement / s <l sall
(O i) maadl (5) il ALY dega b 4l T3

e OS5 ALK Aghs 5" adds gl o3 of a4l o junlaall i (AT 335 -another distinction) 2aliu®
sl Malen 40d" o jle ol 4alS] I inall plalY dage (& ALKAN o S o jualaall oda 8 S 5 cddgh
Aan) @l el e Uiaa vie 5 AT [Maleats i

Ahmed is my best friend /JGs-

Al ol 3 a5 ([4en) 4= sane -Nominal group :4e 53] (NP) 4l o jlie & << my best friend -
(il JaSY Lgaling Ll (51) (cinall aladl dage L3 $4Le8h Ll Liale (o€ calali coela

&) zlin (( "Ahmed is" - Alaall elgi) LiSay (1) alaall elgil ddads 3l o5 (Ahmed is) 1J 58 Of LiSey D
L Mis" sl b 5 Jelill el JaS ST 6 S
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LAaead e 5\..4.1..\ Tl alaall 5 ¢ nall :\lg.\Si e muaie alaall (my best friend) 05 fal-

LY aehally Sy ga maain Ja aleall oda L3 (NP) ) ke 131

.. (is) 45881 J=dl 5 (Ahmed) Jelill 4184 & " my best friend"-

Note: When the complement is a noun, it must agree with the subject in number and

gender.

Ahmed is their uncle. (not “uncles” or “aunt”)

Sarah and Huda are their aunts. (not “aunt” or “uncles”)

The full verb “BE” in this example only serves to join the subject and the complement

together.

In this case, the full verb BE is called a Copula (=something that joins things together). There
are other copulas in English, for example, the verbs “become” and “seem”.

- osiall 5 aaall 5 Jeldl g 565 (o 40 el ALK (oS5 i ¢ Aligale

————-

S~ =

Jad g Jelall ala&all) dlla 8 (puinld) a2l 8 (i U shay o) Camy Laa IS cala&All bl g Jelal) el 31

E dndla 4l oS dinaa

..(Complement of the Subject +BE -4 siSll
f [ b olazil ] Guiall 5 aaall oy ST
caaal) 5 il i < aaal
Loalae — S/ < paial)
Ahmed is their uncle -1/J%
S5 534 > Ahmed @ of a3l
53 53,4 > their uncle

DAl Wika Y
?13d "Ahmed is their uncles" *

.= (their uncles) s & (Ahmed) Y-
LAk UsSy o Y e gy 1A

?3ld "Ahmed is their aunt"*

..l e 253 (their uncles) s 83 aul (Ahmed) OY-

SIS o ) e qany 1
Sarah and Huda are their aunts -2
3 5 aanx > Sarah and Huda : of a3t

&8l 5 xax > their aunts
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DAl Lka Y
?1ala! " Sarah and Huda are their aunt" *

.2k (their aunt) s ges Legdl (5 (padd g o ke (Sarah and Huda) oY-
e S o i) e a3
~("aunts" A5 gax 0585 alih ) 4alsy "Sarah and Huda" of f)-
13kl " Sarah and Huda are their uncles"*
2058 e s (uncles) s &Y e 352 (Sarah and Huda) Y-
LGy e asa o i) e cany 13-

L(SUY) e 2 smi Y " aunts” AlSA L) aslss Wil )-
O oo )
A 7

~ -

~_-

-———

[ Subject + Be + Complement ] "4xeu o jle ()55 ala&all" [ alalh 543 5i8 Jad 5 Jeld ] Lyl oS 131*
e il 5 oaad) 8 Jelil) e 5855 O cang "aLeKA) o M) o jlalld

L A2l 5 Jelil e Ly 5 6 i a0y Jal) 138 8 oaias¥) 435l Jai*

O IS Loy (0 5o alend ¢ AT Jadan gy Y Y delisas Jrd Gl 5 (bl Jad Joall 02 (3 (585 435301 Jai*
(e Lo S Jany 4l (51) L a2 5 Sl

"copula - Tl Sl e (obad) 435Sl Jad) Allall oda 3 131
o e Loy e e 281 (A" copula = dul ) Jedl)" S ixs-

Jsd + Jelal Al&al) s i [copula] =5 (is, am, are, was, were, been)"Be" sl 43 i€l Jad 13-
.. haé "Be"4i ikl

gl Jad e 4y 5alai¥) axlll 3 AT (copulas -adai) ) Judl) cllia*
[0 Jie

become-
seem-
A ) sl 8 Jal S Dlany Laa (Sladl) 3

L g @l of )58 e o) aSia Cosllaall (K1 g0 jualaall 28 8 Ol (3 e alial ) 5330 Gl /) giSal) J i
LSl b e (g A

5. The Complement of the Object
e.g. He found Faisal a good student.

In the previous example, the noun phrase “a good student” is the complement of the direct
object “Faisal”. Compare the examples in (a) and (b) below:

a. The teacher found Faisal a book.
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The teacher found a book for Faisal.
b. The teacher found Faisal a good student.
The teacher found Faisal to be a good student.

In example (a), “Faisal” an indirect object and “a book” is a direct object. The sentence
means that the teacher looked for a book to give to Faisal.

In example (b), “Faisal” is a direct object and “a good student” is a complement. The
sentence means that the teacher thinks that Faisal is a good student.

: 4y Jsaiall AR -5 [ b Asanad) o ol dewalil) Akl -
sl ol aga oo (A ALKA o (5 S LS-
He found Faisal a good student /U« -
Jeldl >> He : Wl
J=éll >> found
dlaadl 44 J 2l >> Faisal

sl 51 155 138 "Faisal” o Sy 43l s ixallé (He found Faisal) 1 Lasie «Ja e il (815
LJES e allalloda el XS5 13S "Fajsal” o

i 55 (ha s S dias o Cusy "Faisal” 2y 45l Lia aais Y-
"Faisal" o 428 51y 5 (i i) saiiay L s «(He found Faisal a good student) Ul aall sa 138 ) Y
Ll s

LGRESA ()5S ) sinalld LKA 038 ()50 e OY"Faisal" 4 Jsxiall 4185 4 (a good student) Allall s3a -
..(a good student) 4z s sl (5 5 "Faisal" 4 J sxiall Qi€ (5585 () (nall 131

< (So to state we said here again - 531 5 e L olili La i i) -
"Faisal" bl 43 J =il ai&4 4 (3 good student) asewY) o jlall Giludl JUal) 4

12U (b 5 @) (& alia) (8 JaliaY) Gy (i sl oLl Le Jixe i il
The teacher found Faisal a book -a

The teacher found Faisal a good student -b

i Lan ol gl 3 oS 5 (igiltia Legdl Ll ey (lileall -

s adead) i 5 amin (@) B Y Al i

The teacher found a book for Faisal
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il S e Cangd a3 el T3
2 aleal) (i i dmi (b) (A 4l sl -
158 Of LSy 2 (@) dlea e 4dlide aleall o3a-
The teacher found a good student for Faisal
i La 138 Gl Y ¢ Jomdl aadl Bl ey 5 i ol e Canll Cany o e
Dol 1 e aus yisale) LiSay
The teacher found Faisal to be a good student
e il g Jead L "G ey sed-
Dl s
. 8l e 4 Jsrie s "Faisal” < (a) Js¥) JGal -
o il 43 Js2ie 9 "a book”
o (WS Jea el sa" Jumdl LIS e sa)-
il olhe] 5 QLS (e Gang alaal) ) ind aleall-
L ba sl 5 (b) JGall (8 aal s 4y Jgrde Lol Gulu¥) ¢ e 40 s2de 2 "Faisal” < (b) S JU 8-
."Faisal" 4 Jsiall 4l&% 4 "3 good student”
gine Gl g8 Jead o sy alaall o i aleall of LS5 WS-
6. Object of a Preposition

s N
n

Prepositions are words like , “on”, “of” and “off” which are normally followed by a noun

phrase. The noun phrase that follows a preposition is called the object of the preposition.
e.g. We arein the same class.
He walked on a high platform.

In the two examples above, the noun phrases “the same class” and “a high platform”
function as the objects of the prepositions “in” and “on” respectively.

1 Al dial Jsria 16 [ e o liall daliad) 4dudi gl)-

NP a0 sl o Sale A (in, on, of, off) /die (S a el o e

el and L 4y pall 4allls < all Coal Jgnda ooy sall Cia &5 Al apen¥) o il
ol Gl Jgaia sl "daill J gaia" aleall J saia 5% 8 4l Ll WS-

..(Object of a Preposition -_all <ijal Jseie) a4kl 5 (NP) & 4kuall 13-

ol Cial Jonie (b Leitila b ja Can 2n (NP) ey 1) T30
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We are in the same class -1 /JG-

..(The proposition — Jall < )n) >> in

.. (Object of a Preposition -_all < jal Js2éa) & 5 (NP) 4xanl o e 2 >> the same class
Lo oaall g el dles 408" (PP) Lsoaall 5 Jlall 8 e agrand >> in the same class

He walked on a high platform -2

..(The proposition — Jall <4 ,2) >> on

.. (Object of a Preposition -_all <l Js2és) & 5 (NP) 4xenl o e o4 >> 3 high platform
LMosoaall s el des 408" (PP) soaall 5 Jlall 3 ke agrand >> on a high platform

:(So to state we said here again - s_al 5 5 La olili Lo o sil)*

iy al J =i Seny (a high platform) s (the same class) 4xesY) <l jlall ¢ AoV & Al cplliall o
(s e -respectively) (on sin) sl

7. Appositive to another Noun Phrase

An appositive is a noun phrase (NP) that describes the same person or thing as another noun
phrase (NP) that came before it.

e.g. Your friend Ahmed Al-Ali is here.

In the previous example, “Ahmed Al-Ali” is an appositive. It is in apposition to the noun
phrase “your friend”. Both NPs “your friend” and “Ahmed Al-Ali” describe the same person.

We will talk more about apposition, including apposition types, in the next lecture.
DA Msan) dlay A" drand o bt Jud) <7 [h Agan) o jlall dagludl) 4SS gl)-

Lol Ciela il o )bl (5 AT dan) o jlanS o i) (i ) (adlll) (i Ciay dzand o e 58 1 Jad) iy i
(Y el o el S ¢ il Gt (el Gl 4l agan¥) o)l o 5 )

coandll e e ol sas LaalilS il Gela Glisend ()6 5le Lual 131

Oxiie i Laa s oo sf 5l (and, but, ... etc.) s G ¢cian¥) G lad) G &y o5 @llin i T31-

b‘)‘...\’.ﬂ i}h—\ 4.}2( G"JAQM" GcJ;\ (‘;_5\2“ Ay b‘)\..\a.l\)d_g\}.” eu-u‘)“ Az ‘éﬁi..i ‘éﬂ\ (4.:\.\1.33\ Araw) UL\:J\)‘;MS\ e.u‘ﬁ\-
.. Q}‘y\ !

Your friend Ahmed Al-Ali is here [JG.-

..(The NP) A s¥1 4sau¥) s Jiall >> Your friend -

.Jull a5 ((The another NP) 43Ull 4pau¥) o lall >> Ahmed Al-Ali -
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. ooaddll i e o san Ll 5 (5 A anyliia Uiels Laalils -
.. Your friend 1 Y Ahmed Al-Ali -

(AP <o 3 (Apposition) s (O} < s 531 (Opposition) G 158 8 1 ) gisall Lglld als gale*
(i A 5 ilida linad > "Opposition" A Ll s Ll €3 ) 54y a 4l & > "Apposition”

..(Apposition) < (A) <aas fas Ul & Ua 4y gaill agls il o ) slaads of cany T3
:(Just to state we said here again - 3 5y La olili L zaca il Jusd)*
..du & (Ahmed AI-Al) - «G@ad) JUal) 3
.(Your friend) 4ses¥) o jlall Yy s¢é -
Ay (el e (Ahmed Al-Ali) s (Your friend) Osisen¥) (i jlal) GIS -
LAl o palaall A el Cagoa gl sl el an a5 sall Cig s e ST Caaiiu®
Exercise:
Choose the correct function for the underlined NPs:
a. Subject b. Object c. Complement d. Appositive

1. His father gave him some important advice.

¢ (some important advice) d&da s & W -1

Jeldll >> His father

J=dll >> gave

.. (gave) J=dll 43 Js2ia >> him

.. Lail (gave) J»ill 43 J s2ée >> some important advice

il e JAY) 5 il Lealas) (Y griae Lol s 131

o8l Jsxiall s T3 ((some important advice) s bl il s o2 T3l
.(gave) J=ill Lilw e 43 J 92 >> some important advice -

Al el s et sl g5 (gave) Juill il s 4 Jsaie >> him T3

ilaa Ll 5 bl Jsxiall sa e Cayail Lagl 5 alliay) o sllaal) el Ul ecafl aleadl (a3 sole) Lo -
T a8

His father gave some important advice to him

il 4y Jgrie 58 Sl (a5 43 Jsaie 4 >> (some important advice) 13-
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ol el 83 ()50 40 Jsmie il Jsally i 1A ala IS Gl 5 ple (S50 alasl) 5o Jigall 8 o sllaall*
b. Object s <lsall 13 ¢« il e

2. Ahmed’s uncle lives in Riyadh.
el 58 5 (NP) 4penl o slie 8 >> Ahmed’s uncle -2
=28 >> lives
..(Subject -Jeld) 5 (predicate -4 iva) ) zliad aleall of alai LS -

Ji Caels 28 (Ahmed’s uncle) A L apan) Gl jladl 5 danl & le pale oS0 Jelal) allall oda k;d -
el 13 (JeliS Jass a5 (lives) Jadll

.." Ahmed’s uncle" Jeld) VI s3iua &3l (5) (predicate -4 1ius) 2 >> lives in Riyadh
a. Subject s ol sall 13-

3. Ahmed’s uncle is a successful businessman.

$¢Jelé (a successful businessman) Ja -3

Ahmed’s uncle < s s La Jeld lual 43y Y -

990 5l ala&a i "is" 435Sl Jail Jsnia (a successful businessman) Ja -

Ol Saiin 13 paddl) G e g1 gad Glliie Glisend ke aa g Y 4V Ju Gl s il -

S 51 ) o AliKs ) lind 4d g3 (a5 Jelb Lial IS 13) Ul LS 5 cala€al) 5 Jgniall slaa o) L Ll
(4355S0 Jnd

oA ALKA Al oda 8 (Mig" aay al&G ) #Uisd >> (Ahmed’s uncle is) -

.." a successful businessman" 4xauy! o jlall

gl 5 nall (L& dage Ala&Al) o2 131 caleall ol Aai juai o5 (Ahmed’s uncle is) Jsii of galains Y -
c. Complement s <l sall 13 ¢((The Complement of the Subject +BE) L&Al Lgyansi

4., Khaled has a lot of books in his room.

.. (NP) 4pen¥l o jlall >> his room -4
JsniaS Jant gl a Copns S dgand o Jle Lual IS 1Y il WB LS 5 ¢ a Goyan Gl (NP) o Jaa Dl
b. Object s <l sall 13 ¢ jall Cajal

5. The teacher gave the students exercises.

Jeld >> The teacher -5
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J=é >> gave
..(gave) dzill 43 Jsia & 5 4aanl o jle >> the students
.(gave) Jxill 42 Js2ia g 5 ol >> exercises
..(gave) Jxall (Y gria lels lawsl Wl -

] aleall Cas i sale ) LiSa -
The teacher gave exercises to the students

. 8le 4 Jgria 585 (gave) dadll 4 Js2ée >> exercises -
b. Object s& lsall 13) ¢ il ye 4 Js2ie 525 (gave) Juill 4 Js2ie >> students -

6. My brother Saleh studies at King Faisal University.
..(Nominal group -4xeu! 4 sans) Lo 58 cdganl o e >> My brother -6
..(Proper Noun — ale aul) lee 55 cdpanl o e >> Saleh
s (2l e () gay Lan SIS 5 (e Tolis 4gan] o il g5 cha e 5 -
.(Saleh) =2 &aidl a1 13 "My brother” 4de 2 gay 53 (adill uii e 3 g2y "Saleh” -

d. Appositive s <l el il c"dj}?\ ?‘”y‘ ol 95\"_)5‘)1\

7. The manager found him a hard working employee.

¢[ a hard working employee ] d&das & L -7
Alaal) o3gd mnall inall s 13 el Y 994) dpland agtine dale (e Canl Caad ) of alead) 3 e i -
agine dale 4y e sl ey ) O & Aleadl o3¢) maall il -

wodle e 8 5" him" << ga s aal s 4y Jgrde Lad Ll
.4 Jseiall J2&4 4 Ji 43 Js2ie gud 8 (a hard working employee) 13 -

: Jsh aleall 038 i ale] LiSay -
c. Complement s < sall 13 ¢ The manager found him to be a hard working employee

sl Jadls e ge s Jadl (e 4wdlall o jualaall b Caatin®

¢ (Complement of Object) s (Indirect Object) o Ca'ﬁ s [ *
cosba! Lo sgde Lol 5 aleall i 5 Balely 1o gad)

Types of Apposition

Jadl g il

Ju 155 Types of Apposition :
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In Lecture 6, we mentioned that one of the functions of the noun phrase (NP) is as an
appositive. We defined an appositive as a noun phrase that describes the same person or

thing as another noun phrase that came before it.
In this lecture, we will discuss the types of apposition.

Apposition can be either restrictive or non-restrictive.

¢ac) gl S a5 palaall sdy ST U5 die Gaaatin g ¢ dualidl B pualaall & Jad) LA o5 S35 LS-
NP = Wb peaid) daen) 3 lal) 5 ¢ daand) 5 jlall Caillag o) sa g aadag oo Jadl of Ll WS

Gela ) 3 jlall (5 AT dsand LS o L) i gl Gt dll Gl Chiay daand 3 5le 8 1 Jad) Gy jad iy
(DY) R 5 ) b SOl o LN g adil el Ciay dpend 5ol sa ol ) L Leld

Jald Loginn a9 ¥ 5 4 el ol (aditl laal LaalilS 5 o a1 amy 3 Laalas) (lisand G5 jle Ll T30
et ) ita g Al e L) Sl sl Gl Caual 4 5 5lell ) 6l ¢ (and, but, .. etc.) S L) s

Qo) il Bl B palaall s3a i

(e e ) e ¢ (e ) e s 38 Jadl

(e el i) e A e 33l s g restriction o o353k restrictive -
A. Restrictive Apposition

e.g. Your friend Ahmed Al-Ali is here.

In this example, the second NP “Ahmed Al-Ali” restricts the meaning of the first NP “your
friend” by giving an answer to the question “Which friend?”

We call the NP “Ahmed Al-Ali” in the previous example a restrictive appositive.

Note: In this type of apposition we do not use commas before and after the appositive.

DGl Jad) -]

Your friend Ahmed Al-Ali is here /Jis

4aul 3 e NP << Your friend

Ju A5 4enl 5 ke NP << Ahmed Al-Ali

(Y AV o jlall amy el 4l dpan¥) 5l ) Laguamd (pulliia lola LaadIS-

Y bl 8 Ciuad A (et i a3 ol a4l o sl -

Y A o el (mall 345 () ) 58 ( Ahmed Al-AlT) 456 4panY o jladl Jlia) 138 8 -

‘(CJ‘ . 6CJL-4 ¢daal ‘J&Mﬁﬁ)s éd“é‘uc&.ﬁ&:uu‘ QSAAX\L}AO}S..}”(Afriend is here)Uﬁ\Sj-
(S sl ) 1 dsE el Jlu s Jaine ()5S 8 Baa ol 1)

s)ball ( Your friend ) 4sen) s jlall UNA ai Uigd (- Your friend Ahmed Al-Ali ) : Jsii Laxie (Sl s
. (Ahmed Al-Ali ) 438l 4y
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Sl il 2 gl e lal (Ahmed AlALT ) of si-

(052 Jay ) S84 Jy o2 ( Ahmed Al-Al ) Alsdl oaa 313 -

o Jadl eys U8 Jeal 8 22305 Y Jadl e g sl 130 b 1Ak gale

. Jual s o3y s ald 3a o Y ( Ahmed Al-ALT ) Jadl o JGall 3 | sl 113 -
e i) paiioi U g il -

B. Non-restrictive Apposition

e.g. Ahmed Al-Ali, your old friend, is here.

In this example, the first NP “Ahmed Al-Ali” is a proper noun which is unique and does not
need modification. The second NP “your old friend” does not tell us which “Ahmed Al-Ali” is
here but only adds information about him.

We call the NP “your old friend” in this example a non-restrictive appositive.

Note: In this type, we use commas before and after the appositive.

D e ) Jad) -

Ahmed Al-Ali, your old friend, is here /Jis

4zanl 3 )ke NP << Ahmed Al-Ali

Ju A5 4l 5 e NP << your old friend

(Y Apans¥) o jluad) amy il 45N 2pan) 5 5Ll ) Laguanad (gl lela Laa DS

) el 8 Chay (A (adsl (udi Cibia s LY Jull o4 4l o all -

.. (Ahmed Al-Ali) ¥ 4l o jlall 20y Sl ((your old friend ) 488 4! o jLall -

v sV e o lall (rall 355 () nall S8 ( your old friend ) 45 4z o jlall JUiall 138 é -

Ahmed ) sla S840 Jadl & 5 «( Ahmed Al-Alj ) - Ulay Ll L oliled Lo o) 5 (Gilad) JUiall 43l JUall 128-
..( Your friend ) 2= (Al-Ali

i Y sk 4l of) Al i Y A 5 umaa ad 8 ((Ahmed AlFAl ) 531 4pand) o jall callall o3a -
Lt Jaand ) gling Y 5 (e &) oy L)

.. ($m3 xa G5l —~Which old friend? ) :Jwsis «( your old friend ) : <l J; Laxic-

ead plai ¥ o (3383) Guee padd s Ahmed Al-Ali of Us alsiv ( Ahmed Al-AlT ) @ &l J& Laxie (<15
o laall (3 585 (3 el 3ant ad 5 4lin) 4aslee oo o be 5 ( your old friend ) Ol 13g]
Loodxys Jall 13 0 Jal g Limin g g (9250 ) S8 e o dgansd o) 13 ¢ Y1 dgans)

Loy s ald Jual 8 Linny 5 584 5 Ju 58 (your old friend ) 13-

o Jdl das O Jesl 48 p2dios Jad) (e gl 10 b 1 gal
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Exercise:
Decide whether the appositive in the following sentences is restrictive or non-restrictive:
b. non-restrictive  a. restrictive
1. The shopkeeper Othman is a hard working man.
4aul 3 e NP >> The shopkeeper -1
Ju o854l 5 ke NP >> Othman
(V) a1 o jlaall day Capla 4l dansV1 5 jlaall ) Laguiandd alliia lola LaadIS-
s ol b Caay (s [l il L i g LS Jadl e 4l o ) -
..Ju s 13 The shopkeeper 2 <\s Othman-
« shopkeeper ! ) s 38 Ugd ( The shopkeeper is a hard working man ) J s Lic-
.( $2a &l il ~Which shopkeeper you mean? ) :Jbus

b 85 Al Liadll L Ugh ( The shopkeeper Othman is a hard working man ) © Jséi Lexie (Sl -
L &b s G Othman e b padd g Eaadi g GV o 5Y) 4l o jlall

a. restrictive s» <l sall 13 ¢ Si Ju s Othman 4llall o2 -
2. Dr. Omar, my Linguistics professor, published a book.
43aul 3,le NP >> Dr. Omar -2

Ju A5 4l 5 e NP >> my Linguistics professor

O (' my Linguistics professor ) 42lll alal (s ) sué 5 58 5 ( Dr. Omar ) = ) sad sy Ll Lia-
o Ol U ke

213 5V 4gan¥) o Jlndl 223 6l (- my Linguistics professor ) s 1sY) 4sas¥) o el 58 ( Dr. Omar )-
N 4:\.\\:\}\ Arany! a)\_yd\

A (e plai o ((Dr. Omar ) Bl ¢ Saall 2y 5f 345 Y 43 5 J g (my Linguistics professor )-
OF Olalay acivaal) 5 aaaiall o € e 58 58 (e —Who is Dr. Omar? ) it o chasalls paddll
aalll alal ) guds 0 58 Dr. Omar w5l

b. non-restrictive s sl 13) ¢ S e Ju » (' my Linguistics professor )-
3. Majid and Saleh, my cousins, will visit us tomorrow.
sl 4aeul 3 5le NP >> Majid and Saleh-3

438 4sanl 3 3e NP >> my cousins
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s L Ll 5 paddl) il e )3 gas LaadIS-
..( Majid and Saleh ) glassall Jlan¥) 38 5l 353 ¥ ( my cousins )-
b. non-restrictive s wlsall 13 ¢ S8e ye Ja s (my cousins ) «llall s2a -
Prepositional Phrase
Dsoaalls Jalls e
2924l Jall 3 Le Prepositional Phrase (PP):

We mentioned that a preposition is a word like “in” or “on” which is followed by a noun
phrase (NP).

e.g. Mohammed is in the classroom.

In this example, the phrase “in the classroom” is called a prepositional phrase. It has a
preposition “in” and an NP “the classroom”. The function of the NP in this sentence is the

complement of the preposition “in”.
A preposition normally comes before an NP, but it can also be separated from its NP as in:
e.g. The man is standing on the platform.

What is the man standing on?

The platform that the man stood on was very narrow.
However, in these examples, the association between preposition and NP still exists.
cosoaalls el be ) Jatii (Y-

o jladl fe IS ¢ all Caya amy 8l a6 el dada g 8 (W8 (S Iy slall 3 ke e lale Waas
Dbl e BN RN PN T ki R Dbl dada g A 2 sl el s jle e e
osoaalls Jlalls e ey sall s s 4]

s e Jalyobe 3sm 5 Laadli T3 clae dpand s jlie 5 oa Cia dsas b e A5 saalls a3 le 13-
o (osoaalls el s e Jak b dsen o jle Lnal il g) ) (5 a]

NP asend ol 1238 03 ((in, on, .. ete. ) @ o alad LS Jall Cig s
Mohammed is in the classroom /JGs-
. D50y ) s ke A >>inthe classroom
.. A A >>n
4l o e NP giaua >> the classroom
4an) 4c geaa Nominal group e s

o (in) oad Cal Jsnie Ll oa aleall o3 A 4ganll) o jlall dida -
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Ll (object) | graa g 4alSll oda ) g83a) I (comp|ement) R L;a_\.Lu\ s 2 g 4 )SJ sSall Lia

Wﬁjﬂ\dﬁtﬂmﬁﬂa‘)hﬂ\dﬁaﬂﬁuﬁj‘WY\o)\Jﬂ\dﬁ@gJ}.‘\u‘)&u\&H\w-
o) e alealdl 8 5elai Y S agenl) Ol jlall Glal) s

P(Apan¥) o bl 5 all Coa) Lagie SIS Ll 0¥ JU) 8-

The man is standing on the platform

-o3allS cplliia Uil Legin SIS 5 (Object of the preposition) sall cajal Js2ia s >> on the platform
: S Jal

What is the man standing on?  /Js& 38

Ldaol e g e 8 sl 4n Jsrial) e Jls La-

caleall sda 8 5kt Y (asanY) s jlall) the platform-

o ledl s pall Casa o ) e se U1 Le agin Jayd 5l oS 5 all Coa e dliadia 4ganY] o jlall 13-
12354 (the platform) 4z o jlall jediivs i) Jlsad) o caglad 81130 ¢ 4pans!

..He is standing on the platform >> ¢S ol sall 13-

ol Goa g asanl o el cp Jal 55 @l ) e Sl 13) -

sl JUal)

The platform that the man stood on was very narrow

. Ls Caatidll iclause gy (Sadl (e

s on Lall G s i Cels The platform ases! s jlall-

..(subject — Ixix) s 13 J$ " The platform that the man stood "-

ool Gooa J8 el Lol 4l o jladl 5 cagan¥) o Ll e el e liliad JUal) 138 5-

o3 5 Y a) Lagias n) sia O Lo daal il (S0 5 el o jluadl el i L Jiadh il COYLAD ians o3
__(ah‘_g

However, in these examples, the association between preposition and NP still exists.

Prepositional phrases can express a number of ideas, including:

1. Place e.g. The book is on the desk.

2. Movement e.g. He walked to the mosque.

3. Time e.g. | finished the exam in one hour.
4. Manner e.g. He finished it with little effort.
5. Purpose e.g. This message is for Ahmed.
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6. Agency e.g. The window was broken by the young boy. (Passive)
7. Instrument e.g. | wrote with a pen.

ozl s el < jlal lalafi¥) any ) GV i il

rdedi 5 JSEYI (e 2o e i g saall 5 el il jle-

sall >> Place -1

ool s Jlall s le aladiul e e i (S e Cuaall LSy

The book is on the desk /Jts-

Leegd 08 e Uy PP smes s 5)ke (2 >> on the desk

L bed e e iS55y S be (A on the desk 13-

di'{s’:m — Juiy) >> Movement -2

He walked to the mosque /JGs-

.. (the mosque - 2awudl ) s 14 GSall 5 e ) ad 5 Jal Lo gadd (JEBY) e jims (gad La-
DR S QY e s 5 s 5 ka3 ke A >> to the mosque-

Cal — cdgll >> Time -3

| finished the exam in one hour /J%s-

Sl o i soae 5 ke ke o8 13 QLAY el Lgtuad S 4gie 3l o sl 43> in one hour-
. gl

Mh—ugaid&géutp&iéju—gjmi >> Manner -4
He finished it with little effort /Jte-

Al s slal oo Jiad 55 mas Jia 3ole (& 13 ot 13gd o5l 38y 4l S >> with little effort-
u;wd‘c@u(w &

8 dea S La g o 4ilgs) Ay 5l 13-
i — 4l — (& € — 4adli >> Purpose -5

et e Jpandl o Lo o Jand cling f clalaial sala - $uadidll 13 ) <3 138 Ja " =3 1 Purpose-
"ol

This message is for Ahmed /JGs-
Wle paddl e ) 5B a5 H5ome s 3oke A >> for Ahmed-
(2l Lghel o 58 ompe o Baa) 2aal & gl ) Al s 13-

1_.;9.&‘9; da) dda g3 — ddal g - AllS g >> Agency -6
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«(Active voice - pstxall idl) 5 (passive voice — Jseaall Jdl) e ailud) oSilal )3 (e (55 SN LI5S 13-
by Al Goa sl Al 5 el b Agent ) &) aSiSas Jsgaal sl b of | siales 8

The window was broken by the young boy /JbGs-
.. o2l (Jaa <Al 54 the young boy-

4ziw alaall Cels Ua « The young boy broke the window : Js& (Active voice - astaall iall) -
. pslaall

Jelé >> The young boy-
.43 Jseidl aless 5 (The window) 233G (Active voice - asieall adll) b -
.. Il dleas 5 >> (The window) L (passive voice — Jseaall Jsall) 3 oS-
4551l J=8 >> was
Js=8all anl —past participle >> broken
.. 0355 WS (Verbal grope — 4dladll 4c ganall) ¢ 530 (s2a] & BE + Past Participle -
ALlaSa alea LY 4l llia Ll «The window was broken 1Jsi o) Saall (0 -

0sSi (by the young boy) - U_Sh 8 The window was broken by the young boy : Js& Laie ¢S5
L (p3L) ashaat g 5) L Gaaall Jad 63 "The agent — JiS slledalall" i adiill U S5 8

. (aal S S - Agency) ) e iS55 mas U 3lke & >> by the young boy -

203l >> Instrument -7

A e ed Jand 4eddiid o i (gl ol 48 ylae - e GlE /e

| wrote with a pen /Jbs-

. La 4l 3168 3 pen caeadil 13-

L8N e b s me 5 a3 le & >> with a pen-

Exercise:

Choose the meaning expressed by the Prepositional Phrase in the following sentences:
a. place b. time €. manner d. instrument

1. My office is located on Riyadh Road.

93lal-c slud- (e 3-(MSa & Ja L s Sdll ale >> on Riyadh Road -1
a. place s il sall 13 ¢ S a5l a1 g -

2. He graduated college with a good GPA.
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£l slal-(ga (1S oa Ja Sl o Sl Lale >> with a good GPA -2

c. manner s ol sall 13) ¢ alls 4l

3. He fixed the door with a hammer.

with a hammer -3

o ot (e 13 LagiSD 5" 352 "0pe SIS B jall Coja (e Liediia) Ll L | glaa-
..( He used a hammer to fix the door — wld) 73l 48 jhaall axiiul ) ¢ 3l L) -
d. instrument s <l sall 13-

4. They will visit us on Monday.

93lal-co shl- (e S o8 Ja Sl 5 Sl oale >> on Monday -4

) sl g a) lalls

b. time s <l sall 13) ¢ V1 a5y 8 € e Lig 55

5. The artist finished the sculpture with great talent.

$alal-c sl (e - MSa & Ja Sl 5 Al ale >> with great talent -5
o ol Ay ¢ dalic 4 ga (JUadll) a3 saiall gl s 13 ¢ Le gl Alla -

c. manner st ol sall 13 ¢ a3 aiall ol aadic G s

Functions of the PP

Dol 5 s jle il

Dladl 3l a5 2alin (V) 5 oNP 4sant) o L) caitd g (e Lian 48l o jualaall 8 ()5 S35 LaS-
PP sl

Al gl 5 aaall o LA oS Sl Caila gl oda ) ok o Ji-
..(word-phrase-clause) 4 4 Jekas (s3I edadl) 5 JSEI A 14dpall-

.4laall A (word-phrase-clause) Al daall (e o jle & 14duli gl)-

C PP Cailla g e ) JS5 (V) -

29l g Jall 8 e ailli gFunctions of the Prepositional Phrase:
&A1, Adjunct

An Adjunct is a word/phrase/clause that provides additional information about another
noun/phrase/clause. It is an optional part of the sentence. If we remove an adjunct, the
meaning will still be complete and the sentence will still be grammatical. It is not a necessary

part of the structure of a sentence. Adjuncts are usually adverbials.
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As an adjunct, a prepositional phrase is considered an adverbial phrase because it does the
same job as an adverbial.

An adverbial is a group of words that does the same job as an adverb. In other words,
adverbials can be used to say when, where or how something happened.

e.g. The man stood on a high platform. (adverbials of place)

This prepositional phrase (PP) is an adjunct that tells us where something happened.

| finished the exam in one hour. (adverbials of time)

This PP is an adjunct that tells us when something happened.
He finished the exam with little effort. (other adverbials)
This PP is an adjunct that tells us how something happened.
RPN PP

|

LS OSSR s aalls el e 13-

word-phrase-) e 4slal 4aslas 235 i 35 (Word-phrase-clause) o s be s 1 aslil) Ciy e
.4l (clause

__41:;5:‘1\}@133\wo)mdﬁw‘m\&w\ggﬂ)@wx}gugwsg@un’u‘\-

3\,)14;:Cﬁid;ﬁ‘){@\ﬂ\‘;joﬁsM\&L@y@\&u\gﬁj@JJPM\OTUE@M\QPM\‘;_
< Sl ixa e o le Y aleal) B adilal vie JLS)

o adaall (e oabasinl (Saall G 13 "aleal) b 5 Laa) o 3a 58" (el U Gl s LR (S il
M) sel A e ddilaie” 4 ga it aleall 5 Slaia Gl Saalld il L33 13-
bl i asclill 5 sy o a oli

.. Jil8 2y adverbials J (e 3 saaiialle i mi ¢ "ag 4l — adverbials" 05 Sale @l il -

Ak 5 )5S Ladie (g1) 4l Jao (puis Qo LY 48 5k o 5l el ) SERE )5 el 5 el 5 jle ¢ aliS-
(S Lebee e S Llae (Y 4yl o jlal) Alebas Jalal Lild "l 5 el 5 ol 5 ke

.. (adverb -Jal) dae (i Jaxi I QLS (0 4o sana oo 1 A B

e Cigan ol iaa La ool (GRS 5 0l 5 S oo Lt AS a1 Jad) (8 e Jlall ine s La ) saled S5
WL

A IS Jalah 5l i ol 555 el s Jlall <l e ddla s (S5 Ladie-
The man stood on a high platform /1Jt

. ey aleal) gl ddais auzai of (Saall (4o 5 4laiSa 4les 2 The man stood-
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OISl il o8 Uigd € i g ol 1 s ¢ 8Ll iae Lidial 38 () S5 (0N @ high platform) g lical 13) oS) -
a4 G )

OSe e Uty i Lgidagge Hg may sla b jbe Lgiiua « 448 48 )1 4 >> on a high platform-
codlaivd (Saall (e s alealdl 55 s il (O W LS5 ¢ Lo g of Cugan

| finished the exam in one hour /2Jt
.. 43l ) 448,15 538 >> n one hour-
coanlg sl L olgdl oa T3 ¢ Lo e i Le gd) 3 dgia 3l oyl (e Uyl Lgilan

alaall Jasy asa g g calaadl fp0 laalayinl QSAA\L'}A‘@U‘;A}J});A}JQB)\,\:@>>inonehour-

He finished the exam with little effort /3Jt

. (Manner - ) Je JY >> with little effort-

Jledlla e Uy 3 QG 13 ke 5 s Al il jla Lual Ta)-

(O agam oLl € Laay) ol () e o 8 han A0S e Uiy ol L 13-

. alaal) gl ddads i 5 He finished the exam @ Jsi o} WS 48Y &6 8 >> with little effort-

Note: Compare the definition of adjuncts in this lecture with the definition of complements
in Lecture 6.

A complement is necessary for the meaning to be complete. If we remove it, the meaning
will be incomplete and the sentence will be ungrammatical.

An adjunct is not necessary for the meaning to be complete. It gives extra information. If we
remove it, the sentence will still be grammatical.

pabsale

AR b bl 3 Ll 83 Al COEAN ( 5 o pualaall o2 8 LAl S5 A aol i g ()l
o JaiSe inal) a4y ) 5 e CSAD ¢ Al 5 jualaall 8 LS LaS*

Sl il 5 of Bl 1) D&l ) 2 lias T30

LA e S alaall 5 daiSe e O sSan (siralld JASA) Laedinl 13-

AL) daslae 43 el JUSY (55 v b el ) Als B Qi) o

cAleall 3 il ) da sl () oS5 @bl

5 4dla) A sheall i Uil mosa il 43 5a i aleal) 5 50 Y o LS s ealld ol Baegial 13-
OB Y L LS gliy aleadly il (S

LA g g m e il g calaadl 8 i) JUSY 4y 5 i Al T3

2. Complement of Subject +BE
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e.g. The book is on the desk.

In this example, the prepositional phrase “on the desk” is the complement of the subject
“the book” and the main verb to BE “is”.

Dot 4l adds )
40 Sl J2é 4 Jelall ale&s -2

450l Jad + Jelill ale&i gl 5 () 5<3 38 daan¥) o jlall o LB Ll 5 S35 LS dpans¥) o jlaall aliia g il 138
.. BE

The book is on the desk /Jta

Jeldl >> The book

..(main verb — bl Jad) 8 54058 Jab >> s

LA iy 5 )5 me 5 Jas e Wiua >> on the desk
LG e il maa Walise i) WY al&h Giela g aall 5 lall 5 ke Ua-
a5 alaiSa pe aleall ) oSiu aleal) eleiil Ak L5 o3 The book Ll 13) 13)-
3. Post-modifier in an NP
e.g. The deskin the classroom is covered with books.

In this example, the prepositional phrase “in the classroom” modifies the noun phrase (NP)
“the desk”. The NP is the head and the PP is a post-modifier because it comes after the
head.

T o AUl agda gl
Dl o jle (A (sam e -3
D08 a8 WA o U SY g ecWanall e s asan) s bl e e Wiaas
B (SRS P gl I FRERNAVON
..(u»bl\ dxy ‘é_ﬁi ) Ay G¥aa
The desk in the classroom is covered with books /Ji«
4aaul o e NP >> The desk
LAl e il glaa oy ged g Jame a5 cdpen) o jlall e ¢ > 98 >> in the classroom

3 ke CuilS 1A Lo oyl Lgandiiug 43y ylal) 028 ial it 2 (The desk in the classroom) Jlasiad cSaall e
oAl o bl Ga e Sa s el s )

P Jsii LdS aanll o el oy it el puai o) (Sl (g 13-

It is covered with books
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ol apanYl ol 838 5 dgand 5 e & The desk in the classroom 13-
s allsdloda 3 Lol 5 ¢ (in the classroom) Lsoaalls Jlall 3 ke 5 (the desk) 4! o jlall
(the head — wiJV) >> desk
" desk" Ll Ui ela 45Y (pre-modifier — (L8 J32%) >> the
4l o jlall 8 (post-modifier — g2 Ja=4) >> in the classroom
.. (The desk) 4sw¥) o jlall @2 (in the classroom) Jsoaalls Jall s le 1 JGa) 1 5-

v O 2y el WY (samy Jind (& soaalls Sl ke 5 Ol (o 4penl) o -

4. Complement of an Adjective
e.g. Ahmed is good at Mathematics.

In this example, the prepositional phrase “at Mathematics” is the complement of the
adjective “good”.

We will discuss adjectives in more detail in the coming lectures.
DoY)y and )l adda gl
adall Al -4
oo il &l e J geanll WiSo Ui 5 o nall JLSY 435500 (o ALA (5 AT o e
Ahmed is good at Mathematics /JG-
Jeld >>Ahmed
Jad >> s

L4l Gl palaall = Glaall S8l dda >> good
cadendl ol (8 el JUSY 4y )5 i da sl Lndaad o jlall 038 ¢ 55 5me 5 Jla 3ke >> at Mathematics
C(fun A Bl ) fan s ad ) 1 Jlilivde (Ahmed is good) & J s Leiai-
Ahmed is good at Mathematics: Jsii 5 aleall JoSi o Cand
.."good" 4dall alx<h o4 "at Mathematics” Lsoaalls Jlall 3 ke (JUa) b 3
e Aedl) Gl pealadll 6 il e (i Ll « S5 WS-

Exercise:
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Choose the correct function for the underlined PP.

c. adjunct a. complement of subject+BE

d. post-modifier in an NP b. complement of an adjective

1. We finished our exam in 2 hours.

Soam Janh i aleSh & Ja >> jn 2 hours -1

LA e b it o (our exam in 2 hours) Jaivl LiSay Y 43 (gams Jaak Cal 4 4l i

A 4les We finished our exam 4leal) zaais in 2 hours e Of LiSay 43Y) Laayf 4laSh cud o 5
ol o e X Cand) 3] (B gl f (a3l (e Adilia) e slas Lithe | in 2 hours oS 5 (sl

oo ol 13 ¢ s b Ay 5 iy 4uilia) Ao slaeS el Ll LeS casilaj 4dyyla a in 2 hours 13-
adjunct

2. We visited the big shop in the mall.

Jeldl >> We -2

J=éll >> visited

saal 5 00a 5 el () s1an3l5 >> the big shop in the mall
We visited it 1 Jsi Of (Seall (sa-

Uisdasil o jlaadl 038 Al Ll (gl ) (imall JLSY o bl 028 dalay (i (i Casdd 8 in the mall Alad) o3a b
..(the big shop) 4xeu¥) s jliall (g2ny Jara (& Cuall 13¢d ¢ (LSl el e 4ilia) s glas

Leie Y "it" aazi 5 (the big shop in the mall) 4xesY) o jlad) Jladivd LiSay
4anl s e NP >> the big shop
d. post-modifier in an NP s& <l sall <" the big shop" 4! s jlall (5303 J32% >> in the mall
3. Mohammed is fluent in English.
Jeld >> Mohammed -3
d=dll >> s
44 >> fluent
fluent 4aall 4laSa & >> in English

"in English" zUsi fmuad ga 13k (8 5lfmual 4 ad 1Jeluis B ((Mohammed is fluent?) 1Js& Laxie-
sinall JLSY

b. complement of an adjective s <l 13l

4. Ahmed was in his uncle’s house.
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Jeld >> Ahmed -4

Jz >> was
-l el JWSY (59 ma alaall 028 8 a3 a9 >> in his uncle’s house
v aleadl JLaSY aalay o lia ¢ (aty s Ahmed was 158l LiSay Y -

a. complement of & < sall 131 ¢ 435Sl Jad + Jeldll ala & >> in his uncle’s house 13-
subject+BE

5. Ahmed’s uncle has a big TV in his house.
Jell >> Ahmed’s uncle -5
J=dll >> has
4anl o e NP >> 3 big TV
N9¢ Lhtda g oo Lalia ¢ 5 5me 5 Jla s ke >>in his house
.. (has) 435381 J28 + (Ahmed’s uncle) Jelill 4li<s a3 big TV aehall-
claall 3 el JULSY 4355 o e 4ilin) 4s sles Y (oS o (in his house) 13 -

" G Ledie (S0 5 ¢ a4y sm 5 el ALaiSa alea () S5 Ahmed’s uncle has a big TV 1 Jsill liSay
A8l 4 glaa Lnal  5S3ud "in his house

"aeal ac aliey G S ady " 1 g8 alead) e (i his house) s 131 Ol sl () sSaus 131 -
A 4l ed cadi a5 saally el Bl ddda s T3l

c. adjunct ss <l sall 131

5 S| a5 aliiall @ pualadll L3 L o) il ) 5 gl 5l jlall e 4dline £ 5 ge dpaal) JeSiu
..l clause e JSI e o giad Al 5 Tages ST Jad sl
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